®
E n LI 2020-2021

K

KENUW' AXLE

N

[Pu3 304 Juo.4:ug]

SE 7KL
[e1qeD J181nQ:"ig]
yieays ojqed axelg

HEHE
JonaT oxelg

SiNg
[eaA 1 aglea)

=Rl
moq

oY

CATALOGUE

SiEd
aqgn] Jauy|

7
8|qeD axe.g

(8%5) 80

£ WAIS Jedsipuey

S
aqn| 1eas HH

2020-2021

p- e
feys uieyo

Ry
¢

m’ —t(
—_

Ao

[elid eippes:ig]
1504 jeas

T

= S — =
[elppes:ig]
1ees

2,
-
3
w
<
LLI
2

-
g
(W]
-
14
18
0o
L
172
N
V4
Z
18
14
v
X
p=
m
N
T
LUl
n
O
18
1]
I
N
-
1]
V4
U
18
14
1]
b=
O
-
-
()
m

KEnLleroduction

® Accessories Bt

KD

Aeyg jeas

KENu

=

WWW.CHINAKENLI.COM

www.chinakenli.com

Ningbo, China
Tel: 0086-574-63542345 63522969

Fax 0086-574-63529988

CIXI CITY KENLI AXLES CO.,LTD.

Add: No.223, Fumin Road, Shengh an Town, Cik ,

=
=

NG
=R 223

AR LR

[ -
T

-63542929 63529668
63542345 63522969

BARMBIR

3
F;

Zh
LEJIE,
AEREB: 0574
HMEREB. 0574-

Email: B nli@b inak nli.o m
Web: www.b inak nli.o m

FBFHEFE: kenli@chinakenli.com
NEIMLE: www.chinakenli.com

EESHE: 0574-63529988



ABOUT US  we= sGs

Kenli Axles Co., Ltd was established in 1998, we specialized in bicycle Bottom Bracket
Set, B.B Cups, Head Set, Crank Set of BMX, and Bif e Repair Tools Mos of produt s
have acquired SGS certification, and they are exported to more than 20 countries, such
as Germany, ltaly, Brak | etc Ale complementing domes ic big es and elet ric big es
of middle and high grades as well. They are well ree ie¢ d by a & omers both at home and
broad with higher quality and o mpetitie prie .

The customers’ satisfaction is our primary target. We uphold a consistent level of
professionalism, quality, credibility and services, therefore we are always ready for
0 operation and gladly welo me new t ients and bus nes partners

o I
i |
|

A FPOH RS TERT R

i
LRIV MAN ALENIENT SYRTEN =
CHEHTINIE ATHIS CERTIFIATY

T T e e

s A ———
s
= i o
3 e ="

B ——— it @ . ,
e e ey T s L TPkt
A EET WAL § e . bicuci i, i
et et . =i I g L T i _— Eedaniin e et -
— WRA: Cresimen LRl e P oy emsimia
o RO il

T —— - —

amfori () sscl

Tradie with purposo

=t o 12

et ]

H

CONTENTS

Yy

BOTTOM BRACKET

01-14

HEAD SET

15-36

BMX-CRANK SET

37-43

SPROCKET

44

PEDALS

45

BICYCLE REPAIR TOOL

46-63

ACCESSORIES

64-66

TECHNICAL INFORMATION

67-68




BOTTOM BRACKET

KL-08A

CARTRIDGE, MTB

Des.: Steel cup & tube

Axle: Boron steel
Thread: BC1.37"x24T L/R

Bearing: 31x16x10mmx2pcs
Finish: Phosphated cups, Black axle

AXLE LENGTH 103mm | 108mm | 110mm | 113mm | 116mm | 118mm | 119mm [122.5mm| 124mm | 126mm | 127mm | 129mm | 130mm |131.5mm| 133mm
A 17 19.5 21.5 22 23 25 24 26 27 27.5 27 27.5 30 30 325
B.BSHELL | B 68 68 68 68 68 68 68 68 68 68 68 68 68 68 68
68mm C 18 20.5 20.5 23 25 25 27 28.5 29 30.5 32 335 32 335 325
D 52 54.5 54.5 57 59 59 61 62.5 63 64.5 65 67.5 66 67.5 66.5
KL-08AK CARTRIDGE, MTB KL-09E CARTRIDGE, MTB
Des.: Plastic cup & tube Des.: Alloy cup & tube
Shell: 68mm Shell: 68mm
Axle: Boron steel Axle: Boron steel
Thread: BC1.37"x24T L/R Thread: BC1.37"x24T L/R
Bearing: 30x16x10mmx2pcs Bearing: 31x16x10mmx 2pcs
Finish: Black cups, Dacromet axle Finish: Anodized, Dacromet axle
AXLE LENGTH 103mm | 108mm | 110mm | 113mm | 116mm | 118mm | 119mm [122.5mm| 124mm | 126mm | 127mm | 129mm | 130mm |131.5mm| 133mm
A 17 19.5 215 22 23 25 24 26 27 275 27 275 30 30 325
BBSHELL | B 68 68 68 68 68 68 68 68 68 68 68 68 68 68 68
68mm C 18 20.5 20.5 23 25 25 27 28.5 29 30.5 32 335 32 335 325
D 52 54.5 54.5 57 59 59 61 62.5 63 64.5 65 67.5 66 67.5 66.5

KENu

KL-149 Spindle 30-30mm/24-24mm/24-22mm

Des.: Alloy B.B SET

Cup: OD 42mm To 46mm
Shell: 68 & 73mm

Bearing: 37x30x4mmx4pcs
Finish: Anodized

SO

B
C D
Parts include ABCD
A Cup Adapter OD 46mm 2ps
B Spae rID 30mm 2ps
C Adapter ID 24mm 2ps
D Adapter ID 22mm 1pc

KL-148 Ceramic Bearing KL-09CB

Des.: Alloy B.B SET Des.: Nylon Left Cup & tube, Steel Right Cup
Shell: 68 & 73mm Shell: 68mm

Cup: OD 46mm Axle: Boron Steel

ID:29mm Thread: BC 1.37"X24T L/R

Axle: 29-29mm through Bearing: 28x16x7mmx2pcs

Bearing: 40x30x7mmx2pcs Finish: Black

Finish: Anodized

CARTRIDGE, MTB

] 1>
~ AXLE LENGTH 119mm | 122.5mm | 124mm | 126mm
Q © s g A 24 26 27 275
[N < ()
B.B SHELL B 68 68 68 68
68mm c 27 28.5 29 305
. L -
\ 68/73 D 61 62.5 63 64.5
I




BOTTOM BRACKET

KL-147-30 Spindle 30mm

Shell: 68&73mm

Thread: M47x1.0 L/R
Bearing: 42x30x7mmx2pcs
Finish: Anodized

KL-110A-47 Spindle 24mm

Shell: 68&73mm

Thread: M47x1.0 L/R
Bearing: 37x25x7mmx2pcs
Finish: Anodized

KL-147E-24 .

dle 24
(External) Spindle 24mm
Shell: 68&73mm
Thread: M47x1.0 L/R
Bearing: 37x25x7mmx2pcs
Finish: Anodized

KL-147E-30
(External)

Shell: 68&73mm

Thread: M47x1.0 L/R
Bearing: 42x30x7mmx2pcs
Finish: Anodized

KENu

Shell: 68&73mm

Thread: M47x1.0 L/R
Bearing: 37x25x7mmx2PCS
Finish: Anodized

(R Vi 22X - Spindle 24mm

KL-142-30 Spindle 30mm

Shell: All size
Bearing: 42x30x7mmx2PCS
Finish: Anodized

Spindle 30mm

KL-146E-30 Spindle 30mm

Shell: 68 & 73mm

Cup: OD 46mm

Bearing: 37x30x4mmx4PCS
Finish: Anodized

KL-146E-24 Spindle 24mm

Shell: 68 & 73mm
Cup: OD 46mm

Bearing: 37x25x7mmx2PCS

Finish: Anodized

CARTRIDGE, MTB

Cold-forged alloy cup.

Axle: 40T
Thread: BC1.37"x 24T L/R
Shell Width: 68mm/73mm
Bearing: 37x24x10mmx2pcs
Length: 136/140/144mm
Finish: Anodized

Sealed Bearing With Hollow Cr-Mo axle.

CARTRIDGE, MTB. ISIS drive axle BB.
Sealed Bearing With Hollow Cr-Mo axle.
Cold-forged alloy cup.

KL-100A

Axle: ISIS, 10T

Thread: BC1.37"x 24T /R
Shell Width: 68mm/73mm
Bearing: 37x24x10mmx1pcs; 37x24x7mmx1pcs
Length: 127.5/132.5mm
Finish: Anodized

KL-130-30 Spindle 30mm

Shell: 68~73mm

Thread: BC1.37"x24T L/R
Bearing: 37x30x4mmx4PCS
Finish: Anodized

KL-130-24 Spindle 24mm

Shell: 68~73mm

Thread: BC1.37"x24T L/R
Bearing: 38x27x6.5mmx2PCS
Finish: Anodized




BOTTOM BRACKET

EXTERNAL BOTTOM
KL-110A BRACKET SET, 24-24mm

Axle: 24mm through
Thread: BC1.37"x 24T L/R
Shell Width: 68mm/73mm
Bearing: 37x25x6mmx2pcs
Finish: Anodized

EXTERNAL BOTTOM

KL-110R BRACKET SET, 24-24mm

Axle: 24mm through
Thread: BC1.37"x 24T L/R
Shell Width: 68mm/73mm
Bearing: 37x25x6mmx2pcs
Finish: Anodized

EXTERNAL BOTTOM
BRACKET SET, 24-24mm

KL-101

Axle: 24mm through

Thread: BC1.37"x 24T L/R
Shell Width: 68mm/73mm
Bearing: 37x24x10mmx2pcs
Finish: Anodized

EXTERNAL BOTTOM

KL-101A BRACKET SET, 22-24mm

Axle: 22-24mm through

Thread: BC1.37"x 24T L/R

Shell Width: 68mm/73mm

Bearing: 37x24x10mmx1pcs; 37x24x7mmx1pcs
Finish: Anodized

KENu

KL-102A PRESS FIT TYPE, 24-24mm

Axle: 24mm through

Cup: OD 41mm

Shell Width: 86-92mm
Bearing: 37x24x10mmx2pcs
Finish: Anodized

KL-102D B.B 30 PRESS FIT TYPE

Material: Alloy

Shell Width: 68mm/73mm
Cup OD: @46mm

Bearing: 42x30x7mmx2pcs
Finish: Anodized

KL-103-41 Alloy Adapter

Cup OD: @41mm

Shell: 68~73mm

Thread: BC1.37"x24T L/R; M36x24T R/R
Finish: Anodized

KL-103-42 Alloy Adapter

Cup OD: @42mm

Shell: 68~73mm

Thread: BC1.37"x24T L/R; M36x24T R/R
Finish: Anodized

EXTERNAL BOTTOM
KL-110L BRACKET SET, FAT Bike

Axle: 24mm through

Thread: BC1.37"x 24T L/R

Shell Width: 80/90/100/110/120mm
Bearing: 37x25x6mmx2pcs

Finish: Anodized

KL-102AL PRESS FIT TYPE, FAT Bike

Axle: 24mm through

Cup: OD 41mm

Shell Width: 90/100/110/120mm
Bearing: 37x24x10mmx2pcs
Finish: Anodized

KL-103-46 Alloy Adapter

Cup OD: @46mm

Shell: 68~73mm

Thread: BC1.37"x24T L/R; M36x24T R/R
Finish: Anodized

KL-103-51 Alloy Adapter

Cup OD: @51.5mm
Shell: 68~73mm

Thread: BC1.37"x24T L/R; M36x24T R/R

Finish: Anodized




BOTTOM BRACKET

KENu

KL-09D CARTRIDGE, MTB

Des.: Steel cup & tube

Axle: ISIS 10T, Cr-Mo

Thread: BC1.37"x24T L/R

Bearing: 31x21.5x7mmx2pcs
Finish: Phosphated cups, Black axle

KL-09DG CARTRIDGE, MTB

Des.: Alloy cup & nylon tube
Axle: 10T, Boron steel
Thread: BC1.37"x24T L/R
Bearing: 31x21.5x7mmx2pcs
Finish: Anodized, Black axle

KL-09DC FOR SPINNING / ISIS

Des.: Alloy cup & tube Fitness Equipment Parts
Axle: ISIS 10T, Cr-Mo

Thread: M48x1.5P L/R

Bearing: 42x22x18.5mmx2pcs

Length: 113mm

Finish: Anodized Cups & Black axle

KL-09CP

4
€

Des.: Left Nylon Cup, Right Steel Cup
Axle: Boron Steel

Thread: BC 1.37"X24T L/R

Bearing: 28x16x7mmx2pcs

Finish: Black

CARTRIDGE, MTB.
KL-09AB Hollow axle can choose

Des.: Plastic cup & tube
Axle: Boron steel

Thread: BC1.37"x24T L/R
Bearing: 30x16x10mmx2pcs
Finish: BK

KL-09AK CARTRIDGE, MTB

Des.: Alloy cup & tube

Axle: Boron steel

Thread: BC1.37"x24T L/R
Bearing: 31x16x10mmx2pcs
Finish: Anodized, Black axle

KL-09A CARTRIDGE, MTB

Des.: Alloy cup & tube

Axle: Boron steel

Thread: BC1.37"x24T L/R
Bearing: 31x16x10mmx2pcs
Finish: Anodized, Black axle

KL-09AT CARTRIDGE, MTB

Des.: Alloy cup & Carbon tube
Axle: Boron steel

Thread: BC1.37"x24T L/R
Bearing: 31x16x10mmx2pcs
Finish: Anodized, Dacromet axle

KL-09BA CARTRIDGE, MTB

Des.: Cold-forged complete alloy body
Axle: Boron steel

Cup: Alloy-6061

Thread: BC1.37"x24T L/R

Bearing: 28x16x7mmx2pcs

Finish: Anodized cups, Black axle

KL-08C

CARTRIDGE, MTB

Des.: Steel cup & alloy tube

Axle: Boron steel

Thread: BC1.37"x24T L/R

Bearing: 28x16x7mmx2pcs

Finish: Phosphated cups, Black axle

KL-08A+ CARTRIDGE, MTB

Des.: Steel cup & tube & lock plate
Axle: Boron steel

Thread: BC1.37"X24T L/R

Bearing: 31x16x10mmx2pcs

Finish: Phosphated cups, Black axle

KL-08AF CARTRIDGE, MTB

Des.: Steel cup & plastic tube

Axle: Boron steel

Thread: BC1.37"x24T L/R

Bearing: 31x16x10mmx2pcs

Finish: Phosphated cups, Black axle




BOTTOM BRACKET

KL-08D CARTRIDGE, MTB

Des.: Alloy cup & tube

Axle: 12T,Boron steel

Thread: BC1.37"x24T L/R
Bearing: 31x17x10mmx2pcs
Finish: Anodized cups, Black axle

ESSORIES FOR ELECTRIC BICYCLE

KENu

KL-08E CARTRIDGE, MTB

KL-EO1

Des.: Steel cup & Plastic tube

Axle: Boron steel

Thread: BC1.37"x24T /R

Bearing: 31x16x10mmx2pcs

Finish: Phosphated cups, Black axle

Des.: Alloy cup & tube

Axle: Boron steel

Cup OD: 35mm

Bearing: 28x16x7mmx2pcs
Finish: Anodized cups, Black axle

KL-08ES CARTRIDGE, MTB

Des.: Cold-forged complete steel body
Axle: Boron steel

Cup OD: Left-33.5mm, Right-34.8mm
Bearing: 30x17x7mmx2pcs

Finish: ED/CP cups, Black axle

KL-07A CARTRIDGE, MTB

CARTRIDGE, E-Bike

-
.
‘i‘ ,
b W

KL-EO02 CARTRIDGE, E-Bike

Des.: Plastic cup & tube
Axle: Boron steel

Thread: BC1.37"x24T L/R
Bearing: 31x16x10mmx2pcs
Finish: Black

&=

Des.: Steel cup & tube

Axle: Boron steel

Thread: BC1.37"x24T L/R

Bearing: 31x16x10mmx2pcs

Finish: Phosphated cups, Black axle

KL-08AL

Des.: Steel cup & tube

Axle: Boron steel

Shell Width: 80/90/100/110/120mm
Thread: BC1.37"x24T L/R

Bearing: 31x16x10mmx2pcs

Finish: Phosphated cups, Black axle

CARTRIDGE, FAT Bike

A B
KL-08B SEMI-CARTRIDGE, MTB KL-08B+ SEMI-CARTRIDGE, MTB — | Il
ﬂ

Des.: Steel cup & plstic tube, water-proof Des.: Steel cup & plstic tube, water-proof " L

Axle: Boron steel Axle: Boron steel

Thread: BC1.37"x24T /R Thread: BC1.37"x24T /R AXLE

M36x24T R/R M36 x 24T R/R LENGTH A B C D
Ball reatiner: 1/4"x9x2pcs Ball reatiner: 1/4"x9x2pcs 138 27 84 27 69
Finish: BK Finish: BK 144 33 80 31 71
; 148 25 90 33 78

145 22 100 23 73
151 31 80 40 80
151 28 100 23 73
156 21 110 25 80
159.5 30.8 100 28.7 78.7
165 31 100 34 84
165 27 110 28 83
165 20 120 25 85
170 35 100 35 85
170 22 120 28 88
177 25 120 32 92
180 28 120 32 92

CARTRIDGE, FAT Bike

KL-01L

Des.: Steel cup & tube

Axle: Boron steel

Shell Width: 80/90/100/110/120mm
Thread: BC1.37"x24T L/R

Ball Retainer: 1/4"x9x2pcs
Finish:Black

| A B | c 1
—D ==
—D ==
AXLE
LENGTH A B ¢ b
165 30.5 104 30.5 82.5
169.5 30.5 104 35 87
179.5 35 104 40.5 92.5
216 7 67 78 111.5
235 78 67 90 123.5
238 83 67 88 121.5
245 88 67 90 123.5
257 90 67 100 133.5
267 100 67 100 133.5




BOTTOM BRACKET

KL-06H BRAZIL TYPE

Axle: Boron steel
Bearing: @45.1x2pcs
251.5 x 2pcs
Length: 128mm
142mm
Finish: BK

KL-06

Axle: Boron Steel

Cup: Steel, @51.5mm

Ball Retainer: 5/16"x12x2pcs

Thread: 7/8"'x24 T L
15/16"X24T R

Length: 150mm

Finish: BK/UCP

Use for Children Bike
KL-04 & Road Bike,set of 11pcs

Axle: Boron steel

Cup: Steel, @35mm/@40mm

Ball retainer: 3/16"x8 x 2pcs ( @35mm)
15/64"x10 x 2pcs ( @40mm )

Nl

Finish: BK/UCP

Use for Children Bike
& Road Bike,set of 9pcs

Axle: Boron steel

Cup: Steel, @35mm/@40mm

Ball retainer: 3/16"x8 x 2pcs ( @35mm )
15/64"x10 x 2pcs ( @40mm )

Length: 148mm

Finish: CP/UCP

KL-16A Use for Children Bike

Axle: Boron steel

Cup: Plastic,@30mm
Bearing: 26x16x7mmx2pcs
Length: 119mm

Finish: BK, Dacromet

» D

KL-16B Use for Children Bike & Road Bike

Axle: Boron steel

Cup: Plastic cup

Thread: BC1.37"x24T L/R
Bearing: 30x16x10mmx2pcs
Length: 122mm

Finish: BK

KENu

KL-16D

Axle: Boron steel

Cup OD: @43mm, plastic
Bearing: 31x16x10mmx2pcs
Length: 122mm

Finish: BK, Dacromet

23

KL-910E Use for BMX set of 11pcs

Axle: Boron steel

Ball Retainer: 15/64"x10mmx2pcs
Cup OD: @40mmx2pcs

Length: 148mm

Finish: Brown/CP/UCP

KL-910D Use for MTB, set of 5pcs

Axle: Boron steel

Bearing: 35x17x10mmx2pcs
Length: 126mm

Finish: BK

KL-910DX Use for MTB, set of 5pcs

Axle: Boron steel
Bearing w/thread: BC1.37" x 24T/L x 1pcs
BC1.37" x 24T/R x 1pcs

Length: 126mm
Finish: BK

KL-910 Use for MTB, set of 3pcs

Axle: Boron steel

Bearing: 35x17x10mmx2pcs
(40x17x12mmx2pcs)

Length: 140mm

Finish: Brown/CP/UCP

KL-910X Use for MTB, set of 3pcs

Axle: Boron steel
Bearing w/thread: BC1.37" x 24T/L x1pcs
BC1.37" x 24T/R x1pcs

Length: 140mm
Finish: Brown/CP/UCP




BOTTOM BRACKET

KENu

KL-01

Des: Nut square Type
Material: 10B21

W

L-02

l

Des: Bolt square Type
Material: 10B21

KL-03

Des: Cottered Type
Material: 10B21

KL-B4

Material: Steel, set of 5pcs

Ball Retainer: 1/4"x9 x 2pcs

Thread: BC1.37"x24T L/R
M36 x 24 T R/R

Finish: BK/UCP/CP

KL-B8

Material: Steel, set of 5pcs

Ball Retainer: 1/4"x 9 x 2pcs

Thread: BC1.37"x24T L/R
M36 x 24 T R/R

Finish: BK/UCP/CP

—
e
Gas)

KL-B31 Waterproof

Material: Steel, Set of 7pcs
Ball Retainer: 1/4" x 9 x 2pcs
Thread: BC1.37" x 24T L/R

M36 x 24 T R/R
Finish: BK/UCP/CP

KL-B32

Material: Steel, Set of 5pcs

Ball Retainer: 1/4" x 9 x 2pcs

Thread: BC1.37" x 24T L/R
M36 x 24 T R/R

Finish: BK/UCP/CP

Il
{
“-—

KL-B36

Material: Steel, Set of 5pcs
Ball retainers: 1/4"X9
Thread: BC1.37" x 24T /R

M36 x 24 T R/R
Finish: ED/UCP/CP

Material: Steel, Set of 6pcs

Ball Retainer: 1/4" x 9 x 2pcs

Thread: BC1.37" x 24T L/R
M36 x 24 T R/R

Finish: BK/UCP/CP

%
ot

% ;

“t-t-,r’

g.
-
h

KL-B39

Material: Steel, Set of 5pcs

Ball Retainer: 1/4" x 9 x 2pcs

Thread: BC1.37"x 24T L/R
M36 x 24 T R/R

Finish: BK/UCP/CP

&%

N

N KL-B39+ Waterproof

Material: Steel, Set of 7pcs

Ball Retainer: 1/4" x 9 x 2pcs

Thread: BC1.37"x 24T L/R
M36 x 24 T R/R

Finish: BK/UCP/CP

¥ <
~O,

Cassette

KL-B40 & Waterproof

Material: Steel, Set of 9 pcs

Ball Retainer: 1/4" x 9 x 2pcs

Thread: BC1.37" x 24T L/R
M36 x 24 T R/R

Finish: BK/UCP/CP

KL-B431

Material: Steel, Set of 9 pcs
Ball Retainer: 5/16" x 7 x 2pcs
Cup OD: @43.1mm
Thread: 3/4" x 24T

13/16" x 24T R
Finish: ED/UCP

_— -
L, - i —
( an
=
- R ™= -

|

oo

_ Brazil thread
KL-B451 & Dust Resistant

Material: Steel, Set of 6pcs
Bearing: 45 x 25 x 12mm x 2pcs
Thread: M22 x 24T L

M23.4 x 32T R
Cup OD: @45mm x 2pcs
Finish: BK/UCP
- -’
\‘,_ h
™ Y T
~ .

Brazil thread

KL-B451A & Dust Resistant

Material: Steel. Set of 10pcs
Ball Retainer: 15/64" x 10 x 2pcs
Thread: M22 x 24T L
M23.4 x 32T R
Cup OD: @45mm x 2pcs
Finish: BK/UCP

KL-B515

Material: Steel. Set of 9pcs
Ball Retainer: 5/16" x 9 x 2pcs
Thread: 7/8" x 24T L

15/16" x 24T R
Cup OD: @51.5mm x 2pcs
Finish: BK/UCP

B KL-B515A

Material: Steel. Set of 11pcs
Ball Retainer: 5/16" x 12 x 2pcs
Thread: 7/8" x 24T L

15/16" x 24T R
Cup OD: @51.5mm x 2pcs
Finish: CP

e o

N 7= 7N
O\.. s N/

B KL-B515C

Material: Steel. Set of 12pcs
Bearing: 47 x 30 x 9mm x 45°x 2pcs
Thread: 7/8" x 24T L

15/16" x 24T R
Cup OD: @51.5mm x 2pcs
Finish: CP

l
W
G
£
\}

A
&
{
/



HEAD SET

KENu

KL-B500 1S41/28.6-26T 1S41/30 KL-B521 1S42/25.4 1S42/27

@ Height: 20.0£1Tmm @ Finish: Anodizing @ Height: 10.0£1Tmm @ Finish: Anodizing

1-1/8"x26T

MODEL NO: H23M

|

I ==

i
u

®co L ee@o

=

241

41.8
— NO PARTNAME MATERIAL  SPECIFICATION QTY MODEL NO: H23H ! |

;j_@( T Look Nut Carbon Steal 1~ 1/8" Xo6T ] —— " NO PARTNAME  MATERIAL SPECIFICATION QTy
2  Spacer Carbon Steel  2mm 1 0 1 Start Nut Alloy 6061 1" 1
Eﬂ 3 Top Cone Carbon Steel  1-1/8" X26T 1 E @ 2 Upper Cover Alloy 6061 25.4mm 1
4 Bearing G-Cr15 41X30.15X6.5mmxX45° 2 3 Compress Ring Alloy 6061 25.4mm 1
5 Lower Cup Alloy @30mm 1 — 4 Bearing G-Cr15 41.8X30.15X7mmxX45° 2
E%% 557 5 LowerCone  Alloy 6061 @27mm 1

KL-B510 1S38/25.4 1S38/27 KL-B530 1S42/28.6 1S42/30
@ Height: 10.0£1mm @ Finish: Anodizing @ Height: 10.0£1Tmm @ Finish: Anodizing
M
2l 1 2 3
MODEL NO: H23 046
1L N - L",.T g’“:.
EDEL NO: H23M % g ) ~ i J’] , ) !

MODEL NO: H23H E —————— NO PART NAME MATERIAL SPECIFICATION QTY 5418 NO PART NAME MATERIAL SPECIFICATION QTY
‘d] 1 Start Nut Alloy 6061 1" 1 ’ 1 Start Nut Alloy 6061 1-1/8" 1
0 ; 2 Upper Cover Alloy 6061 25.4mm 1 B 2 Upper Cover Alloy 1-1/8" 1
m 3 Compress Ring  Alloy 6061 25.4mm 1 o 3 Compress Ring  Alloy 6061 28.6mm 1
- %:DD 4 Bearing G-Cr15 38X27X6.5mmx45° 2 [ — 4 Bearing G-Cr15 41.8X30.156X7mmx45° 2
Q27 | 5 Lower Cone Alloy 6061 @27mm 1 230 | 5  Lower Cone Alloy 6061 @30mm 1

KL-B520 1S42/28.6 1S42/30 KL-B540 1S42/28.6 1S52/40(30)

@ Height: 10.0+1mm @ Finish: Anodizing @ Height: 10.0£1Tmm @ Finish: Anodizing

228.6
74 X
_ = i
3 MODEL NO: H23 1 2
MODEL NO: H23 =
v = 4 : 5 :

VAN AR
o

- MODEL NO: H23M I =
MODEL NO: H23M

)

)

1 5 e
a—J @~
MODEL NO: H23H NO PARTNAME  MATERIAL SPECIFICATION QTY

MODEL NO: H23H C— 9 NO PARTNAME  MATERIAL SPECIFICATION QTY o ‘ 1 StartNut Alloy 6061 1- 1/8" 1
418 1 Start Nut Alloy 6061 1-1/8" 1 0 ‘:Ijga 2 Upper Cover Alloy 6061 28.6mm 1
N ﬁj 2 Upper Cover Alloy 6061 28.6mm 1 5,[ 3 Compress Ring Alloy 6061 28.6mm 1
1 — ~ 3 Compress Ring Alloy 6061 28.6mm 1 4 Bearing G-Cri5  41.8X30.15X7mmXx45° 1
4 Bearing G-Cr15 41.8X30.15X7mmx45° 2 —_— 5 Bearing G-Cr15 52 X 40 X 8mm X 45° 1
%moﬂ 5  Lower Cone Alloy 6061 @30mm 1 239.8<30>\ 6 Lower Cone Alloy 6061 ©@39.8mm(@30mm) 1




HEAD SET

KL-B550 1S47/31.8 1S52/40

@ Height: 10.0+1Tmm @ Finish: Anodizing

MODEL NO: H23

@31.8
.

-_— v

‘ 252.0

MODEL NO: H23M

|
-

— %

247.0

A

MODEL NO: H23H

NO PART NAME MATERIAL SPECIFICATION

) ™~ 1 Start Nut Alloy 6061 1-1/2" 1

2 Upper Cover Alloy 6061 31.8mm 1

= 3 Compress Ring Alloy 6061 31.8mm 1

@ ) 4 Bearing G-Cr15 47X35X7mmX45° 1
‘LJ 5 Bearing G-Cr15 52X40X8mmxX45° 1
6 Lower Cone Alloy 6061 ©39.8mm 1

KL-B560 1S42/28.6 1S47/33

@ Height: 10.0£1mm @ Finish: Anodizing

MODEL NO: H23

OFO

246 \
MODEL NO: H23M *
B A ) .
*‘T 041.8
MODEL NO: H23H @ :3[ NO PART NAME MATERIAL SPECIFICATION Q'TY
— 1 Start Nut Alloy 6061 1-1/8" 1
" ’; g[ 2 Upper Cover Alloy 6061 28.6mm 1
o ‘ 247 ‘ 3 Compress Ring Alloy 6061 28.6mm 1
B 4 Bearing G-Cr15 41.8 X30.15 X 7mm X 45° 1
e 5 Bearing G-Cr15 47 X 35 X 7mm X 45° 1
233 | = 6 Lower Cone Alloy 6061 @33mm 1
KL-B570 1S52/38.1 1S52/40
@ Height: 10.0#1mm @ Finish: Anodizing
_ | @381 o
MODEL NO: H23 / % B ] 5
o/ N [ ow 1
MODEL NO: H23M N
? % )
1 I N 4 .
MODEL NO: H23H : ©52.0 ‘
@ @ w[ NO PART NAME MATERIAL SPECIFICATION QTY
< 1 Start Nut Alloy 6061 1-1/2" 1
1 Eﬁ 2 Upper Cover Alloy 6061 38.1mm 1
3 Compress Ring Alloy 6061 38.1mm 1
Dzo 4 Bearing G-Cr15 52 X 40 X 8mm X 45° 2
| 2398 | 5 Lower Cone Alloy 6061 ©@39.8mm 1

KENu

KL-B310 ZS544/28.6 ZS44/30

@ Height: 15.0+1mm @ Finish: Anodizing

MODEL NO: H23

o/ N

_ @286 |

-

‘ @50

%E

MODEL NO: H23M

)
—

1

o
L, 090

MODEL NO: H23H \ 1 NO PART NAME MATERIAL SPECIFICATION QTY

f 1 Start Nut Alloy 6061 1-1/8" 1

0  om | 2 Upper Cover Alloy 6061 28.6mm 1

' 3 Compress Ring Alloy 6061 28.6mm 1

- g N 4 Bearing G-Cr15 41 X 30.15 X6.5mm X 45° 2

ﬂ i 5 Cup Alloy 6061 @44mm 2

6 Lower Cone Alloy 6061 @30mm 1

[ ——
230 |
KL-B311 ZS44/25.4 ZS44/27
@ Height:12.5£1mm @ Finish: Anodizing

@50

@44

7N
- 7

O
So

O

\
y

o]

7‘12

NO PARTNAME  MATERIAL SPECIFICATION QTY
Start Nut Alloy 6061 1"
Upper Cover Alloy 6061 25.4mm
Seal Ring Nylon -

Compress Ring Alloy 6061 25.4mm
Bearing G-Cr15 41 X 30.15 X6.5mm X 45°
Cup Alloy 6061 @44mm
Lower Cone Alloy 6061 @27mm

N|oOO |~ W|IN| =
G N NN B O S ) i Y

©50.0

244.0

R SN e
QOO -

NO PARTNAME MATERIAL SPECIFICATION QTY
Start Nut Alloy 6061 1-1/8"
Upper Cover  Alloy 6061 28.6mm

Compress Ring Alloy 6061 28.6mm

Bearing G-Cr15 41 X 30.15 X 6.5mm X 45°

Cup Alloy 6061 @44mm

O[N]
IO NN N ) S g e

Lower Cone Alloy 6061 @30mm




HEAD SET

KL-B320 ZS544/28.6-26T ZS44/30

@ Height: 26.0£1Tmm @ Finish: Anodizing

@50

0

@

@44

i
i

SN -3 - N
5 ‘ ,/ 6 6 7
NO PART NAME MATERIAL SPECIFICATION QTY
Lock Nut Alloy 6061 1-1/8" X 26T 1
Washer Steel 2mm 1
Compress Ring Alloy 6061 1-1/8" X 26T 1
Seal Ring Nylon - 1
Bearing G-Cr15 41 X 30.15 X 6.5mm X 45° 2
Cup Alloy 6061 @44mm 2
Lower Cone Alloy 6061 @30mm 1

230 ‘

KL-B321 ZS44/25.4-24T ZS44/30

@ Height: 26.0+1mm @ Finish: Anodizing

230 ‘

——
_ 0222
T B L
—— ‘
= 1 FN
241 S
o NO PART NAME MATERIAL SPECIFICATION QTY
@50 1 Lock Nut Alloy 6061 1" X24T 1
—— y
™~ 2 Washer Steel 2mm 1
J 3 Compress Ring Alloy 6061 1" X24T 1
044 I 4 Seal Ring Nylon - 1
;ﬂ 5 Bearing G-Cr15 41 X 30.15 X 6.5mm X 45° 2
6 Cup Alloy 6061 @44mm 2
E 7 Lower Cone Alloy 6061 @30mm 1
[ — — )

KL-B330

ZS44/28.6 ZS55/40

@ Height: 16.0+1mm @ Finish: Anodizing

MODEL NO: H23

628.6‘

N B

MODEL NO: H23M

)

MODEL NO: H23H

R

L N~

4 -
g%t
S— P
©41.0 \
8
500
ﬁﬁ NO PARTNAME  MATERIAL SPECIFICATION QTY
044.0 1 Start Nut Alloy 6061 1-1/8" 1
0550 2 Upper Cover Alloy 6061 28.6mm 1
Q 3 Compress Ring Alloy 6061 28.6mm 1
4 Bearing G-Cr15 41 X 30.156 X 6.5mm X 45° 1
. @3 5 Topcuw Alloy 6061 @44mm 1
raszo 6 Lower Cup Alloy 6061 @55mm 1
7 Bearing G-Cr15 52 X 40 X 8mm X 45° 1
== 8 Lower Cone  Alloy 6061 ©39.8mm(@0mm) 1

39.8(30),

KENu

KL-B331 ZS544/28.6 ZS50.6/33(30)

@ Height: 16.0+1mm @ Finish: Anodizing

MODEL NO: H23

)

_ @286

1%
N
@50.0

<>
O

3 4

T @50.0
A ; NO PARTNAME  MATERIAL SPECIFICATION QTY
- _ 2470 1 Start Nut Alloy 6061 1- 1/8" 1
MODEL NO: H23H 2506 2 Upper Cover  Alloy 6061 28.6mm 1
N 3 Compress Ring Alloy 6061 28.6mm 1
o 2570 4 Bearing G-Cr15 41X 30.15 X 6.5 mm x 45° 1
£ 5 Top Cup Alloy 6061 @44mm 1
[=]
] 6 Lower Cup Alloy 6061 @50.6mm 1
047 7 Bearing G-Cr15 47 X35 X 7mm x 45° 1
5:& 8 Lower Cone Alloy 6061 @33mm(30mm) 1
@33(30 ‘
KL-B332 ZS44/28.6 2S56/40
@ Height: 16.0+1mm @ Finish: Anodizing
7@28.6‘
7 >
@50
MODEL NO: H23 %:ﬁ
@® 13

MODEL NO: H23H

|
~

@52

239.8 |

PART NAME MATERIAL SPECIFICATION Q'TY
1 Start Nut Alloy 6061 1-1/8" 1
2 Upper Cover Alloy 6061 28.6mm 1
3 Compress Ring Alloy 6061 28.6mm 1
4 Bearing G-Cr15 41 X 30.15 X 6.5mm X 45° 1
5 Top Cup Alloy 6061 @44mm 1
6 Lower Cup Alloy 6061 @56mm 1
7 Bearing G-Cr15 52 X 40 X 8mm X 45° 1
8 Lower Cone Alloy 6061 ©39.8mm 1

KL-B410 ZS44/28.6-26T ZS44/30

@ Height: 26.0+1mm @ Finish: CP/ED

M\
O

&® O
S,

- Rl

<

o :-.u“

a

O
(o

& Y
B'S‘thlul.l’—"’y G‘E‘*kulnl.r—' O
:%
' NO  PART NAME MATERIAL SPECIFICATION QTY
W@ﬁ 1 Lock Nut Steel 1-1/8" X 26T 1
@ 2 Washer Steel 2mm 1
244 | 3 Top Cone Steel 1-1/8" X 26T 1
4 Seal Ring Nylon - 1
250 5 Cup Steel @44mm 2
EPCCROEOSR 6 Ball Retainer Carbon Steel 5/32" X 22 2
I —— 7 Lower Cone Steel @30mm 1
% 8 Seal Ring Nylon — 1

230 |



HEAD SET

KL-B410A

@ Height: 26.0#1mm @ Finish: CP/ED

ZS44/28.6-26T ZS44/30

<
~

ooo

7 m 7~ v

O
O

3

_—— C O
7 R =4 7 \-‘ o 3
NO PART NAME MATERIAL SPECIFICATION QTY
1 Upper Cover Alloy 6061 25.4mm 1
—— 2 Lock Nut Steel 1-1/8" X 26T 1
250 T 3 Washer Steel 2mm 1
L§ f 4 Top Cone Steel 1-1/8" X 26T 1
@44 5 Seal Ring Nylon - 1
gﬂ 6 Cup Steel @44mm 2
7 Ball Retainer Carbon Steel 5/32" X 22 2
% 8 Lower Cone Steel @30mm 1
= 9 Seal Ring Nylon - 1
__ @30 |
KL-B410B ZS44/28.6-26T Z2S44/30
@ Height: 26.0£1mm @ Finish: CP/ED
e — N
- & O
1 b i : ‘ :
I N
& J W
e 5 6 6 7 8
‘ 350 ‘ NO PART NAME MATERIAL SPECIFICATION QTY
= 1 Lock Nut Steel 1-1/8" X 26T 1
044 2 Washer Steel 2mm 1
3 Top Cone Steel 1-1/8" X 26T 1
;ﬂ 4 Seal Ring Nylon 1
RPO-OHO-0R 5 Cup Steel @44mm 2
' 6 Ball Retainer Carbon Steel 5/32" X 22 2
— 7 Lower Cone Steel @30mm 1
e \} 8  SealRing Nylon - 1

230

KL-B410B-A ZS44/28.6-26T ZS44/30

@ Height: 26.0+1mm @ Finish: CP/ED

@254 | o
& 6
@46
e O
b
R — NO PART NAME MATERIAL SPECIFICATION QTY
% % 1 Upper Cover Alloy 6061 28.6mm 1
— 2 Lock Nut Steel 1-1/8" X 26T 1
TEGIoDD 3 Washer Steel 2mm 1
L 4 Top Cone Steel 1-1/8" X 26T 1
N i N 5 Seal Ring Nylon 1
% 6 Cup Steel @44mm 2
— 050 7 Ball Retainer Carbon Steel 5/32" X 22 2
CES28:0R 8 Lower Cone Steel 230mm 1
T = 9 Seal Ring Nylon — 1
)
230 |

KENu

KL-B411 ZS44/28.6 ZS44/30

@ Height: 11.521mm @ Finish: CP/ED

028.6‘
——

—Y%Y B

ooOQQ

SO o0

II'|1

NO PART NAME MATERIAL  SPECIFICATION QTY
1 Start Nut Alloy 6061 1-1/8" 1
gﬂ 2 Compress Ring Nylon 28.6mm 1
\ 250 3 Seal Ring Nylon — 2
4 Top Cone Steel 1-1/8" 1
((@81810]I818D)) 5 Cup Steel @44mm 2
6 Ball Retainer Carbon Steel 5/32'" X 22 2
1
gﬂ 7  Lower Cone Steel @30mm 1
230
KL-B411A ZS44/28.6 ZS44/30
@ Height: 10.0£1Tmm @ Finish: CP/ED
22856 |
p— CasienTate] ) O
44
NO PART NAME MATERIAL SPECIFICATION QTY

A L 1 Start Nut Alloy 6061 1-1/8" 1
2 Compress Ring Nylon 28.6mm 1
w 3 Seal Ring Nylon — 2
4 Top Cone Steel 28.6mm 1
‘ : 5 Cup Steel @44mm 2
gﬁ 6 Ball Retainer Carbon Steel 5/32" X 22 2
7 Lower Cone Steel @30mm 1

@30 ‘

KL-B412 ZS41.4/25.4-24T ZS41.4/30

@ Height: 26.0£1mm @ Finish: CP/ED

346
o414

WH%WHWWHHM

Inel:

4 ) 3 6
NO PART NAME MATERIAL SPECIFICATION QTY

1 Lock Nut Carbon Steel 1"X24T 1
2 Spacer Carbon Steel 2mm 1
3 Top Cone Carbon Steel 1"X24T 1
4 Sealring Plastic - 1
5 Cup Steel 41.4mm 2

Ball Retainer High Chromium Steel 5/32 "X 22 2
6 Lower Cup Carbon Steel @30mm 1




HEAD SET

KL-B413 Z541.4/28.6 ZS28.6/30

@ Height: 15.0£1Tmm @ Finish: Anodizing

MODEL NO: H23

228.6

———=
P

©41.4
414

Pl
&

MODEL NO: H23M
MODEL NO: H23H
Y
1

Il
|

(ZZ@ (e OOO

PART NAME MATERIAL SPECIFICATION
1 Star Nut Alloy 6061 1-1/8" 1
2 Upper cover Alloy 6061 1-1/8" 1
3 Compress Ring Plastic 28.6mm 1
4 Top Cone Steel 28.6mm 1
5 Ball Retainer High Chromium Steel 5/32 "X 16 2
6 Cup Carbon Steel @41.4mm 2
7 Seal Ring Plastic - 1
8 Lower Cone Carbon Steel @30mm 1

KL-B414 ZS41.4/28.6 ZS41.4/30

@ Height: 15.0+1mm @ Finish: Anodizing

MODEL NO: H23

228.6 _ 0286 |

/B
T e@ oo

{ mT — } o
MODEL NO: H23M A
T Q—+ O
3 S [ Ag NO PART NAME MATERIAL  SPECIFICATION QTY
-+  e— 1 Start Nut Alloy 6061 1-1/8" 1
MODEL NO: H23H 0414 2 Top Cover Alloy 6061  28.6mm 1
gﬂ 3 Compress Ring Alloy 6061  28.6mm 1
b o 5 4 Top Cone Steel 28.6mm 1
S — 5 Ball Retainer Carbon Steel 1/8" X 25 2
— 6 Cup Steel @41.4mm 2
230 7  Lower Cone Steel 230mm 1
R — 8 Lower Cover Plastic - 1
KL-B420 ZS44/28.6 ZS44/30
@ Height: 18.541mm @ Finish: CP/ED
©28.6
L1 B g Go OQQ
o0 | 5 5
| — — v.uu.., g g o
— o AN S
| — T -
S NO PARTNAME  MATERIAL  SPECIFICATION QTY
1 Start Nut Alloy 6061 1-1/8" 1
|44 | | 2 Upper Cover  Nylon 28.6mm 1
48 3 Compress Ring Nylon 28.6mm 1
4 Top Cone Steel 28.6mm 1
5 Seal Ring Nylon - 2
CECCROORORTY 6 Cup Steel @44mm 2
—_— 7  Ball Retainer Carbon Steel 5/32'" X 22 2
8 Lower Cone Steel @30mm 1

KENu

KL-B430 ZS44/28.6 ZS44/30

@ Height: 11.0£1mm @ Finish: CP/ED

@
O

o
O

NO PART NAME MATERIAL  SPECIFICATION QTY
1 Start Nut Alloy 6061  1-1/8" 1
2 Upper Cover Alloy 6061 28.6mm 1
3 Compress Ring Nylon 28.6mm 1
4 Cup Steel @44mm 2
Ball Retainer Carbon Steel 5/32"' X 22 2
5 Lower Cone Steel @30mm 1

KL-B431 ZS44/28.6 ZS44/30

@ Height: 11.0+1mm @ Finish: CP/ED

028.6‘

2 3 4
©50.0
T 17
7 c
5 5 6
NO PART NAME  MATERIAL SPECIFICATION QTY
G440 J 1 Star Nut Alloy 6061 1-1/8" 1
475 2 Upper Cover Alloy 6061 1-1/8" 1
ﬂ 3 Compress Ring Plastic - 1
4 Top Cone Carbon Steel 1-1/8" 1
(esislalaleny 5 Cup Carbon Steel @44 2
—_— Ball Retainer High Chromium Steel 5/32 "X 22
f—— 6 Lower Cone Carbon Steel @30 1
230
KL-B440 ZS44/28.6 ZS44/30
@ Height: 21.5+1mm @ Finish: CP/ED
028.6|

@44

48

4
NO PART NAME MATERIAL  SPECIFICATION QTY
1 Start Nut Alloy 6061  1-1/8" 1
2 Upper Cover Nylon 28.6mm 1
3 Compress Ring Nylon 28.6mm 1
4 Cup Steel 44mm 2

Ball Retainer Carbon Steel 5/32" X 22 2
5 Dust-Resist Cover Nylon - 1
6 Lower Cone Steel @30mm 1




HEAD SET

KL-B441 Z544/28.6 ZS55/40

@ Height: 21.541mm @ Finish: CP/ED

¢ @
o O

=
NO PART NAME MATERIAL  SPECIFICATION QTY
Ty — 1 Start Nut Alloy 6061  1-1/8" 1
258.5 2 Upper Cover Nylon 28.6mm 1
2550 3 Compress Ring Nylon 28.6mm 1
4 Top Cup Steel @44mm ’
Ball Retainer Carbon Steel 5/32" X 22
_—_— 1T —0o 5 Lower Cup Steel @55mm ]
fg Ball Retainer Carbon Steel 5/32" X 28
— Lower Cone Steel 239.8mm 1
©39.8

KL-B442 ZS44/28.6 ZS55/40(30)

@ Height: 17.0£1mm @ Finish: Anodizing

S O
lol®

MODEL NO: H23 |
— ; ? 5
o
1
jreiosy}
MODEL NO: H23M NO PARTNAME MATERIAL  SPECIFICATION QTY
3 g 044.0 1 Star Nut Alloy 6061 1-1/8" 1
2475 2 Upper Cover  Alloy 6061  1-1/8" 1
MODEL NO: H23H Zggg ] 3 Compress Ring Plastic 1-1/8" 1
4 Top Cone Steel 1-1/8" 1
Q UE 5 Top Cup Steel @44mm 1
[casisiszaEaisias)) Ball Retainer Carbon Steel 5/32'" X 22 1
- 6 Lower Cup Carbon Steel @55mm 1
X Ball Retainer Carbon Steel 5/32'" X 28 1
239830 7  Lower Cone Carbon Steel ©39.8mm (30mm) 1

KL-B455 ZS44/28.6 ZS56/40(30)

@ Height: 17.0+1mm @ Finish: Anodizing

» & O
OO0

O

MODEL NO: H23 S
= 7 4
‘“@ L —7
MODEL NO: H23M jﬁ% NO PARTNAME  MATERIAL  SPECIFICATION QTY
i g ., 1 Star Nut Alloy 6061 1-1/8" 1
i b = 2 Upper Cover  Alloy 6061 1-1/8" 1
MODEL NO: H23H 3 Compress Ring Plastic 1-1/8" 1
b 4 Top Cone Steel 1-1/8" 1
T/ \ Ei 5 Top Cup Carbon Steel @44mm 1
[casisioncnsision) Ball Retainer Carbon Steel 5/32" X 22 1
_— 5 Lower Cup Carbon Steel @56mm 1
——\ Ball Retainer Carbon Steel 5/32' X 28 1
639.8(30)‘ 7  Lower Cone Carbon Steel ©@39.8mm (30mm) 1

KENu

KL-B456 Z544/28.6 ZS50.6/30(33)

@ Height: 20.0£1Tmm @ Finish: ED/CP

N

2286 |

q

&9 O o O

MODEL NO: H23M NO PART NAME  MATERIAL SPECIFICATION QTY
w \ 1 Star Nut Alloy 6061 1-1/8" 1
2 Upper Cover Alloy 6061 1-1/8" 1
MODEL NO: H23H ‘2’50 3 SealRing Plastic 1
1 g;’gs 4 Top Cone Steel 1-1/8" 1
& 5 Seal Ring Plastic - 1
6 Ball Retainer High Chromium Steel 5/32 "X 22 1
N @@ 7 Top Cup Carbon Steel @44mm 1
— 8 Lower Cup Carbon Steel ©@50.6mm 1
9 Ball Retainer High Chromium Steel 5/32 "X 24 1
10 Lower Cone Carbon Steel @30(33)mm 1
230(33) |
KL-B457 ZS41.4/28.6 ZS50.6/30
@ Height: 17.0+1mm @ Finish: Anodizing
P & O

MODEL NO: H23 atme
o/ N U ] P 5 Pt 6 7 8
MODEL NO: H23M R
T SeToTOIeIe)) NO PARTNAME MATERIAL  SPECIFICATION QTY
- g § 1 Start Nut Alloy 6061 1-1/8" 1
MODEL NO: H23H —% 2 Upper Cover. AIonl6061 1-1/8 1
o46 3 Compress Ring Plastic 1-1/8" 1
in | ©57.5 ) 4 Top Cone Plastic 1-1/8" 1
N — 2506 | 5 Ball Retainer Carbon Steel 1/8'" X 25 2
ﬂ 6 Cup Steel @41.4mm 1
7 Lower Cup Steel @50.6mm 1
%m Ball Retainer Carbon Steel 5/32" X 24 1
s 8 LowerCone  Steel @30mm 1
230 |
KL-B481 ZS44/28.6-26T ZS44/30 FOLDING BIKE
@ Height :18.5:1MM 1-1/8"-26T |
% % %, -{‘: gy,
g0, | 5 C s P I.‘- —
1 &
P - . Rewesusnny 5 ;
A | oas [ |
NO PART NAME MATERIAL SPECIFICATION QTY
—o4 1 Lock Cover Alloy 6061 1-1/8" X 26T 1
e 7 Seaifing Pl 1
lceias) 3 Top Cong Cgrbon Stegl 1-1/8" X 26T 1
4 Ball Retainer High Chromium Steel 5/32" X 20 2
L i 5 Cup Carbon Steel @44mm 2
gﬂ 6 Seal Ring Plastic - 1
e 7 Lower Cone Carbon Steel @30mm 1




HEAD SET

KENu

KL-B482 ZS44/28.6 ZS44/30 FOLDING BIKE KL-B202K EC30/25.4-24T EC30/27 SAFETY 120°
@ Height :11.5+1MM _ o288 @ Height: 33.0£1Tmm @ Finish: CP/ED
—— d . ey i
. 2 3 4 s 4“"""“") O { :
= ° : 2 3 A
= DO o -
Teeezvisnyy] 5 5 6 7 {‘F 5
- ‘ 4 - - 5 6 7
NO  PART NAME MATERIAL SPECIFICATION Q'TY
a4 1 Cover Alloy 6061 1-1/8" 1 NO PART NAME MATERIAL SPECIFICATION QTY
044 2 Compress Ring Alloy 6061 28.6mm 1 QO 1 Lock Nut Carbon Steel 1" X 24T 1
bﬂ 3 Top Cone Carbon Steel 28.6mm 1 Ig 2 Washer Steel 2mm 1
4 Ball Retainer High Chromium Steel 5/32" X 20 2 027 3 Top Cone Carbon Steel 1" X 24T 1
(GG a5 85003 )} 5 Cup Carbon Steel @44mm 2 4 Ball Retainer Carbon Steel 5/32'' X 16 2
———————— 6 Seal Ring Plastic - 1 5 Top Cup Carbon Steel @30mm 2
7 Lower Cone Carbon Steel @30mm 1 r 6 Lower Cup Carbon Steel @30mm 1
'Jg%& 7 Lower Cone Carbon Steel @27mm 1
- EC30/25.4-24T EC30/27
KL-B201AC EC30/25.4-24T EC30/27 KL-B203
@ Height: 45.0+1mm @ Finish: Anodizing @ Height: 37.0+1mm @ Finish: CF/ED
1 _1"X 24T -
P
T &
— ] \
[E—— 1 2 3 4
| ) ‘;’ ﬂi‘i"‘hi e
%@ 4 ' 5 5 6
o5 ‘ NO PART NAME MATERIAL SPECIFICATION Q'TY
‘ 1 Lock Nut Alloy 6061 1" X247 1 NO  PART NAME MATERIAL SPECIFICATION QTY
2 Washer Steel 2mm 1 1 Lock Nut Carbon Steel 1" X 24T 1
|§ 3 Top Cone Alloy 6061 1" X 24T 1 5 Washer Steel omm 1
4 Bearing G-Cr15 0OD38mm X 45° X 6.5H 2 3 Top Cone Carbon Steel 1 X 24T 1
B (2 5  Top Cup Alloy 6061 ©30mm 1 4 Ball Retainer Carbon Steel 5/32"' X 16 2
6 Lower Cup Alloy 6061 @30mm 1 5 Cup Carbon Steel @30mm 2
;‘F\W 7 Lower Cone Alloy 6061 @27mm 1 6 Lower Cone Carbon Steel @27mm 1
- EC30/25.4-24T EC30/27
KL-B202 EC30/25.4-24T EC30/27 KL-B205 C30/ C30/
. - Height: 36.5£1mm Finish: CP/ED
@ Height: 32.5:1mm @ Finish: GP/ED . ® Height: 36.5 ® Finish: CP/ o2 g
- iﬂﬂﬂ‘%ﬁ -4 .
g :'(“ 4%3 ay-xl W
I I 1 4
4"" - )
oo oo oo #
4 \Q—u W 6
Eﬁ , NO PART NAME MATERIAL SPECIFICATION Q'TY
| @30 | NO  PART NAME MATERIAL SPECIFICATION QTY 1 L -
ock Nut Carbon Steel 1" X 24T 1
1 Lock Nut Carbon Steel 1" X24T 1
> Washer Steal omm ] 2 Washer Steel 2mm 1
3 Top Cone Carbon Steel 1" X 24T 1
3 Top Cone Carbon Steel 1" X 24T 1 - m
4 Bal Retainer Carbon Steel 5/32" X 16 2 4 Ball Retainer Carbon Steel 5/32" X 16 2
@ESERB|Spese) 5 Cup Carbon Steel @30mm 2
o Cup Carbon Steel ©30mm 2 6 Lower Cone Carbon Steel @27mm 1
é & 6 Lower Cone Carbon Steel @27mm 1




HEAD SET

KENu

KL-B205k EC30/25.4-24T EC30/27 Safety120° KL-B207A EC30/25.4 EC30/27
@ Height: 36.54.1Tmm @ Finish: CP/ED 022 | @ Height: 25.0£1mm @ Finish: CP/ED o5
a1 b T —t
=g | — O
== Y 2 “ —
1 2 4
(D o i
4 . T
= \ N )
e ; 7 7 S_— &
4 5 6
E% NO PART NAME MATERIAL SPECIFICATION QTY S
1 Lock Nut Carbon Steel 1" X 24T 1 E E NO  PART NAME MATERIAL SPECIFICATION QTY
2 Washer Steel 2mm 1 1 Start Nut Alloy 6061 1" 1
gﬁ% 3 Top Cone Carbon Steel 1" X247 1 2 Compress Ring Nylon 1" 1
4 Ball Retainer Carbon Steel 5/32" X 16 2 (S ERORORIPY)] 3 Top Cone Carbon Steel 1" 1
5 Top Cup Carbon Steel @30mm 2 . 4 Ball Retainer Carbon Steel 5/32" X 16 2
6 Lower Cup Carbon Steel @30mm 1 5 Cup Carbon Steel @30mm 2
" 7 Lower Cone Carbon Steel @27mm 1 g;%z 6 Lower Cone Carbon Steel @27mm 1
w27 |
KL-B206 EC34/28.6-26T EC34/30 KL-B208 EC34/28.6 EC34/30
@ Height: 37.54.1mm @ Finish: CP/ED @ Height: 28.0+1mm @ Finish: CP/ED
! ©28.6 o
UMY, - v
. 4 i‘;_._ ‘:m — - 7
, , 4'&,,“”“"!.; h — — 1 2 3
1 ° e O o C— T & /’i} N :- Hf Y
. ¥ 4
5 5 6 7 4 - 5 6 7 =
NO PART NAME MATERIAL SPECIFICATION QTY @34, | NO_PART NAME MATERIAL SPECIIIFICATION QTyY
1 Look Nut Carbon Steel 1-1/8" 1 ] 1 Start Nut Aloy 6061 1-1/8 !
P Washer Steel mm 1 2 Upper Coverl Alloy 6061 28.6mm 1
3 Top Cone Carbon Steel 28.6mm 1 3 Corn'press Ring Alloy 6061  28.6mm = !
4 Ball Retainer Carbon Steel 5/32" X 22 2 g _E;ea”cng g’ot? 5 Se 4@;?: S0.15 X7 mm x 45 f
5 Cu Carbon Steel @34mm 2 op Lup arbon Stee mm
6 S P " iﬁ 6 Lower Cup Carbon Steel @34mm 1
eal Ring Nylon = 1 — 1,
7 Lower Cone Carbon Steel @30mm 1 7 Lower Cone Carbon Steel_©30mm !

EC34/28.6 EC34/30 KL-B219 EC34/28.6 EC34/30
@ Height: 26.0+1mm @ Finish: CP/ED 5 @ Height: 23.0+1mm @ Finish: CP/ED Hollow screw
__ @6 o c ° \:"’"“%E | 02856 |
] 1 , , 4  S— =7 w O o
: 1 4
7

S O
| —F— ) 5 )
o LR L
—1h C) OO . — @
) Y
Woag o0 5 e g 6 7 8 - ﬁ@m_ﬁ e ~ 5 o 6 6
E% NO  PART NAME MATERIAL SPECIFICATION Q'TY
— 1 Start Nut Alloy 6061 1-1/8" 1 NO  PART NAME MATERIAL SPECIFICATION QTY
| S 2 Washer . Steel 2mm 1 o34 1 Start Nut Alloy 6061 1-1/8"/M10 1
3 Compress Ring Nylon - 1 § 2 Compress Ring Nylon 1-1/8" 1
4 Top Cone Carbon Steel 1-1/8 1 \\ 3 Top Cone Carbon Steel — 1
5 Ball Retainer Carbon Steel 5/32" X 22 2 N 4 Seal Ring Nylon — 2
wouyuouy 6 Cup . Carbon Steel @34mm 2 (oo Oouuy 5 Ball Retainer Carbon Steel 5/32"" X 22 2
W 7 Seal Ring Nylon - 1 " 6 Cup Carbon Steel @34mm 2
¢ @ 8 Lower Cone Carbon Steel @30mm 1 7 Lower Cone Carbon Steel @30mm 1
e —" P
230




HEAD SET

KL-B236

EC34/28.6 EC34/30

@ Height: 26.5+1mm @ Finish: Anodizing

=

=
e
(]

=¥

NO PART NAME MATERIAL  SPECIFICATION QTY
1 Start Nut Alloy 6061 1-1/8" 1
2 Upper Cover Alloy 6061 1-1/8" 1
3 Compress Ring Alloy 6061 1-1/8" 1
4 Bearing G-Cr15 39 X 30 X 6.5mm X 45° 2
5 Cup Alloy 6061  @34mm 2
6 Lower Cone Alloy 6061  @30mm 1

KL-B240 ZS44/28.6 EC44/40(30)

@ Height: 29.0£1mm @ Finish: Anodizing

)

|
=

- = O
%ﬂ‘” 1 2 3 N 4
@50
MODEL NO: H23 T =
- S f
MODEL NO: H23M — < 5 6 7 8 =
g ij NO PARTNAME  MATERIAL  SPECIFICATION QTY
| o4 | 1 Start Nut Alloy 6061 1-1/8" 1
MODEL NO: H23H L — 2 TOD Cone AIon 6061 1-1/8" 1
T 3 Compress Ring Alloy 6061 1-1/8" 1
wl | \ 4 Bearing G-Cr15 41 X 30.15 X 6.5mm X45° 1
5 Top Cup Alloy 6061 @44mm 1
e @] O LowerCuwp  Aloy6osi  Oddmm 1
‘ 252 ‘ 7 Bearing G-Cr15 52 X 40 X 8mm X 45° 1
— 8 Lower Cone Alloy 6061 239.8mm (30mm) 1

239.8(30)|

KL-B241 EC49.7/38.1 EC49.7/40

@ Height: 38.5+1mm @ Finish: Anodizing

239.8

E

90

4 5
NO PART NAME MATERIAL  SPECIFICATION QTY
1 Start Nut Alloy 6061 1-1/2" 1
2 Upper Cover Alloy 6061  38.1mm 1
3 Compress Ring Alloy 6061 38.1mm 1
4 Bearing G-Cr15 52 X 40 X 8mm X45° 2
5 Top Cup Alloy 6061 @49.7mm 1
6 Lower Cup Alloy 6061 @49.7mm 1
7  Lower Cone Alloy 6061 239.8mm 1

KENu

KL-B241A EC49.7/28.6 EC49.7/33

@ Height: 38.5+1mm @ Finish: Anodizing

L J

a

OO

S o
-2 1

&

NO PART NAME MATERIAL  SPECIFICATION QTY
7 B 1 Start Nut Alloy 6061 1-1/8" 1
2 Top Cover Alloy 6061 28.6mm 1
3 Compress Ring Alloy 6061 28.6mm 1
©52.0 4 Bearing G-Cr15 52 X 40 X 8mm X 45° 2
ﬁﬂ 5 Top Cup Alloy 6061 @49.7mm 1
6 Lower Cup Alloy 6061 @49.7mm 1
— P 7 LowerCone  Aloy6061  @33mm 1
KL-B242 EC30/25.4 EC30/27
@ Height: 28.541mm @ Finish: Anodizing
©25.4
—= N (o’
042 ~
— 7 1 2 3 i 4 '
— Ad

4
30 NO PARTNAME  MATERIAL  SPECIFICATION QTY
1 Start Nut Alloy 6061 1" 1
2 Top Cone Alloy 6061 25.4mm 1
3 Compress Ring Alloy 6061 25.4mm 1
238 4 Bearing G-Cr15 38 X 27 X 6.5mm X 45° 2
Z - 5 Cup Alloy 6061 @30mm 2
el 6 Lower Cone Alloy 6061 @27mm 1
—— W
@27
KL-B245 EC44/25.4 EC44/27
@ Height: 38.5+1mm @ Finish: Anodizing
@254
256 & o
= 7 1
el
052 |
4
‘ @44 NO PART NAME MATERIAL  SPECIFICATION QTY

1 Start Nut Alloy 6061 1" 1
2 Top Cone Alloy 6061 25.4mm 1
3 Compress Ring Alloy 6061 25.4mm 1
4 Bearing G-Cr15 52 X 40 X 8mm X 45° 2
—252 | 5 Cup Alloy 6061  @44mm 2
| 6 LowerCone  Alloy6061  @27mm 1

@227 ‘




KENu

SAFETY 130°

KL-E704

@ Threadless

NO PART NAME MATERIAL SPECIFICATION Q'TY
1 Lock Nut Carbon Steel M25X1 1 NO PART NAME MATERIAL SPECIFICATION QTY
Washer Carbon Steel 15X1.5 1 1 Star Nut Alloy 6061 1-1/8" 1
Top Cone Carbon Steel ~ M25X1 1 2 Upper Cover Alloy 6061 1-1/8" 1
. High Chromium " Compress "
4 Ball Retainer Steel 5/32"X 20 1 3 Ring Alloy 6061 1-1/8 1
5 Top Cup Carbon Steel @30 1 4 Bearing G-Cr15 @41X30.2X6.5mmx45° 1
6 Lower Cup  Carbon Steel @50 1 5 Top Cup Alloy 6061 D44 1
7  Ball Retainer gtlggl Chromium 1/4"X15 1 6 Lower Cup Carbon Steel @44 1
8 Lower Cone Carbon Steel 030 1 7 BallRetainer 5190 MMM 5/32 1 20 1
8 Lower Cone Carbon Steel @30 1
KL-E705 SAFETY 130°
NO PART NAME MATERIAL SPECIFICATION Q'TY
1 Lock Nut Carbon Steel M25X1 1 NO PART NAME MATERIAL SPECIFICATION QTY
Washer Carbon Steel ~ 15X1.5 1 1 Lock Nut Carbon Steel ~ 1-1/8"X26T 1
Top Cone Carbon Steel ~ M25X1 1 2 Spacer Carbon Steel 29X 2 1
4 Ball Retainer gtigzlcmomi“m 5/32"X 20 1 3 TopCone  CarbonSteel  1-1/8"X26T 1
5 Top Cup Carbon Steel 30 1 4 Top Cup Carbon Steel @44 1
6 Lower Ci Carbon Steel @43 1 i i
werup N rh - 5 BallRetainer o900 O™ 5735 22 2
. ig romium f
7 Ball Retainer Steel 8/16"X16 ! 6 Lower Cup  Carbon Steel @44 1
8 LowerCone CarbonSteel @27 L 7  Lower Cone Carbon Steel @30 1
KL-E706
NO PART NAME MATERIAL SPECIFICATION Q'TY
1 LookNut  Garbon Steel ~M25X1 L NO PARTNAME MATERIAL  SPECIFICATION QTY
2 Washer Carbon Steel ~ 15X1.5 1 1 Look Nut Carbon Steel  1-1/8"X26T ]
3 Top Cone Carbon Steel ~ M25X1 1 ook Ru arbon Stee .
- : 2 Spacer Carbon Steel 29X 2 1
4 BallRetainer HI9N CRIOMIUM 5,55 w5 1 P
Steel 3 Top Cone Carbon Steel ~ 1-1/8"X26T 1
5 Top Cup Carbon Steel @30 1 4
6 Lower Cup Carbon Steel @30 1 4 Top Cup Carbon Steel @44 1
. High Chromium ! : i
7 BallRetainer o 5/32"X 20 1 5 Ball Retainer g;gzlcmommm 5/32 "X 22 2
8 Lower Cone Carbon Steel @27 1 6 LowerCup CarbonSteel Q44 1
9 Seal Ring Plastic - 1
7 Lower Cone Carbon Steel @30 1




HEAD SET

S KENu

KL-E707 SAFETY 130° KL-B202R EC30/25.4-24T EC30/27

@ Height: 36.0mm

O ° NO PARTNAME MATERIAL  SPECIFICATION Q'TY ] ° 5 NO PART NAME MATERIAL  SPECIFICATION QTY
| ) 5 1 StarNut Alloy 6061 /8 y OD:43mm : — 1 LockNut  Carbon Steel — 1'X24T 1
Compress ) ! S N 2 Washer Carbon Steel 29X 2 1
2 Ring Plastic - 1 | \ _3
Sl IRy, o e "
O g!"'_ ",L..ll ¢ ; 3 TopCone  CarbonSteel  1-1/8" y e " teger 3 TopCone  CarbonSteel  1"X24T 1
- T i : .
4 5 5 - 4 SealRing  Plastic - 1 4 Ball Retainer ggzlohrommm 5/32 "X 16 2
5 Ball Retainer gt'ghlcmom'“m 5/32 "X 22 2 5 Cuwp Carbon Steel  @30mm 2
o o ° 5 TonC Cez Steal Qa4 y 5 6 6 Lower Cone Carbon Steel  @27mm 1
op Cup arbon Steel
6 7 8 7 Lower Cup  Carbon Steel @44 1
8 Lower Cone Carbon Steel @30 1

KL-B202H EC30/25.4-24T EC30/27

@ Height: 33.0mm

NO PART NAME MATERIAL SPECIFICATION QTY

KL-E708 SAFETY 90°0r130°

OD:43mm 1 2 3 1 Lock Nut Carbon Steel ~ 1"X24T 1
2 Washer Carbon Steel 29X 2 1
3 Top Cone Carbon Steel ~ 1"X24T 1

o -'f'.'r‘:":l-\:!_.‘
. gr'.':-\ -ﬁ
4 R =Tl 4 Lo e Ry 5
High Chromium 5/32 "X 16 2
Steel
o 5 Cup Carbon Steel ~ @30mm 2
6 6 Lower Cone Carbon Steel  @27mm 1

4 Ball Retainer

19 ZO Se NO PART NAME MATERIAL SPECIFICATION QTY

1 Lock Nut Carbon Steel  1-1/8"X26T 1 5
2  Spacer Carbon Steel 29X 2 1
Lot T tun)
Ly, ORI S
X ] 3 TopCone  Carbon Steel  1-1/8"X26T 1

e I 4

4 4 5 4 Ball Retainer gigr;lChrommm 5/32 "X 22 2 KL-B520H 1S42/28.6 1S42/30
5 Top Cup Carbon Steel @34 1 o Height: 10.0mm
° 6 Lower Cup Carbon Steel @34 1
6 7

7  Lower Cone Carbon Steel @30 1 NO PART NAME MATERIAL SPECIFICATION Q'TY
5 1 Start Nut Alloy 6061  1-1/8" 1
1
2 Upper Cover Alloy 6061 28.6mm 1
( s Compress

3 ) 3 . Alloy 6061  28.6mm 1

3¢ 5 s N - 4 Ring
KL-E800 ZS44/28.6 ZS44/30 Electric Scooter 4 Cartridge Gors 41.8X30.5X )

Bearing 8mm X 45°

[ ] Helght 11.0=1Tmm @ Finish: CP/ED 4 , ) 5 = 7 5 Lower Cone Alloy 6061 @30mm 1

KL-B540H 1S42/28.6 1S52/40
NO PARTNAME MATERIAL  SPECIFICATION ~ Q'TY @ Height: 10.0mm
1 Upper Cover  Alloy 6061  28.6mm 1 NO PART NAME MATERIAL SPECIFICATION QTY
1 2 3

2 Compress Ring Nylon 28.6mm 1
Cup Steel G44mm 2 1 Start Nut Alloy 6061  1-1/8" 1
3
e o Ball Retainer Carbon Steel  5/32"' X 22 2 2 2 Upper Cover Alloy 6061 28.6mm 1
4 Lower Cone Steel @30mm 1
8 4 g Compress Aoy 6061 28.6mm 1
Ring
$
3 )
4 Cartr_|dge G-Cri5 41 ;8 X30.5 X 8mm X ]
Bearing 45
\ -
6 . 5 Qatidge G s 52X 40X 8mmX 45° 1
- Bearing
6 Lower Cone Alloy 6061 @39.8mm 1




BMX-CRANK SET

KL-8800Y-19

48 SPLINE
INTERFACE

Des.: Two pieces Cr-Mo crank set.
J31.8mm square shape arm.
Flush machined chainwheel interface.
Rirht side drive available.
Axle: 48T-19mm
Bearing: @41.28x19x11mm x2pcs
Length: 1756mm
Finish: ED

KL-8800Y-22

INTERFACE

Des.:  Two pieces Cr-Mo crank set.
@31.8mm square shape arm.
Flush machined chainwheel interface.
Rirht side drive available.
Axle: Hollow axle 48T-22
Bearing: @41.28x22x11mm x2pcs
Length: 175mm
Finish:  ED

KL-8800Y-24

48 SPLINE
INTERFACE

Des.: Two pieces Cr-Mo crank set.
J31.8mm square shape arm.
Flush machined chainwheel interface.
Rirht side drive available.

Axle: Hollow axle 48T-24

Cup OD: @51.5mm

Bearing: ©@41.28x24x11mm x2pcs

Length: 175mm

Finish: ED

KENu

KL-8908R

Des.: Three pieces crank set.
©@31.8mm round shape arm, @ m
with One-pinch bolt. 8 SPLINE

INTERFACE

Flush machined chainwheel interface.
Left side drive available.
Arm: Cr-Mo,8T-19mm
Length: 170/175mm
Finish: ED

KL-8902S-A

Des.: Three pieces crank set.
231.8mm square shape arm
with pin type.
Flush machined chainwheel interface.
Left side drive available.
Arm: Cr-Mo,8T-19mm
Length: 170/175mm
Finish: ED

8 SPLINE
INTERFACE

Des.: Three pieces crank set.
228.6mm square shape arm,
with one-pinch bolt
Flush machined chainwheel interface.
Left side drive available.
Arm: Cr-Mo, 8T-19mm
Length: 170/175mm
Finish: ED

8 SPLINE
INTERFACE

KL-8903S-A

Des.: Three pieces crank set.
With 2 screws. 318
@31.8mm square shape arm
with pin type.

Flush machined chainwheel interface.
Left side drive available.

Arm: Cr-Mo,8T-19mm

Length: 170/175mm

Finish: ED

SQUARE
Wiy

8 SPLINE
INTERFACE

KL-8903H

Des.: Three pieces crank set.
With two screws.
@31.8mm square shape arm.
Flush machined chainwheel interface.
Micro-drive available.

Arm: Cr-Mo, 8T-19mm A%{

8 SPLINE
INTERFACE

Length: 170/175mm
Finish: ED

e

KL-8901R-A

Des.: Three pieces crank set.
©@28.6mm round shape arm @
with pin type.
Flush machined chainwheel interface.
Left side drive available.
Arm: Cr-Mo,8T

Length: 170/175mm
Finish: ED

8 SPLINE
INTERFACE




BMX-CRANK SET

KENu

KL-10 8T-19mm KL-8903S

KL-10C 8T-19mm KL-8902R

Des.: Chainring Inside Des.: Chainring Inside Des.: Three pieces crank set. {)Vb(i Des.: Three pieces crank set.

Cr-Mo cold forged spindle Cr-Mo cold forged spindle ?31.8mm round shape arm, @ @ With two screws.

Flush machined chainwheel interface Flush machined chainwheel interface with one-pinch bolt. ‘ e ©31.8mm square shape arm, HUNE
Axle: 8T, M8 x1 Axle: 8T, M8 x1 Flush machined chainwheel interface. with one-pinch bolt.
Cup OD: @51.5mm. Loose B.B Set Cup OD: @51.5mm. American Loose B.B Set Left side drive available. Flush machined chainwheel interface.
Ball retainer: 5/16"x12 x 2pc Ball retainer: 5/16"x12 x 2pc Arm: Cr-Mo,8T-19mm Left side drive available.
Finish: BK Finish: BK Length: 170/175mm Arm: Cr-Mo,8T-19mm

Finish: ED Length: 170/175mm

AP

Finish: ED

KL-06C 8T-19mm KL-06D 8T-19mm KL-8903S-E KL-8901S-A

Des.: Euro Sealed Bottom Bracket. Des.: Spanish Sealed Bottom Bracket. Des.: Three pieces crank set. Des.: Three pieces crank set.

Cr-Mo cold forged spindle. Cr-Mo cold forged spindle. With two screws. @28.6mm square shape arm
Alloy cup.Tube spacers. Cone Washer.Tube spacers. 31.8mm square shape arm. HUNE with pin type. ErURE
Adaptor.Screws. Adaptor.Screws. Flush machined chainwheel interface. Flush machined chainwheel interface.

Axle: 8T-19mm Axle: 8T-19mm Micro-drive available. Left side drive available.

Cup Thread: BC1.37"x24T L/R
Bearing: @31x19x7mm x4pcs

Bearing: @37x19x9mm x2pcs
Finish: BK

Arm: Cr-Mo,8T-19mm
Length: 170/175mm

Arm: Cr-Mo,8T-19mm
Length: 170/175mm

Finish: BK Finish: ED Finish: ED

AR

KL-06DX 8T-19mm KL-06F 8T-19mm KL-8901S

KL-8902S

Des.: Mid Sealed Bottom Bracket. Des.: American Sealed Bottom Bracket. Des.: Three pieces crank set. Des.: Three pieces crank set.
Cr-Mo cold forged spindle. Cr-Mo cold forged spindle. @28.6mm square shape arm, thsslE @31.8mm square shape arm,
Cone Washer.Tube spacers. Alloy cup.Cone Washer. with one-pinch bolt \ e with one-pinch bolt. e
Adaptor.Screws. Tube spacers. Adaptor.Screws. Flush machined chainwheel interface. Flush machined chainwheel interface.
Axle: 8T-19mm Axle: 8T-19mm Left side drive available. Left side drive available.
Bearing: @41.28x19x11mm x2pcs Cup OD: @51.5mm Arm: Cr-Mo,8T-19mm Arm: Cr-Mo,8T-19mm
Finish: BK Bearing: 041.28x19x11mm x2pcs Length: 170/175mm Length: 170/175mm
Finish: BK Finish: ED £ Finish: ED




BMX-CRANK SET

KL-11C 48T-19mm

Des.: Euro Sealed Bottom Bracket.
Cr-Mo cold forged spindle.
Alloy cup.Tube spacers.
Adaptor.Screws.

Axle: 48T-19mm

Cup Thread: 1.37"x24T L/R

Bearing: @31x19x7mm x4pcs

Finish: BK

AAY

KL-11D 48T-19mm

Des.: Spanish Sealed Bottom Bracket.
Cr-Mo cold forged spindle.
Cone Washer.Tube spacers.
Adaptor.Screws.

Axle: 48T-19mm

Bearing: @37x19x9mm x2pcs

Finish: BK

A=A

KL-11DX 48T-19mm

Des.: Mid Sealed Bottom Bracket.
Cr-Mo cold forged spindle.
Cone Washer.Tube spacers.
Adaptor.Screws.

Axle: 48T-19mm

Bearing: @41.28x19x11mm x2pcs

Finish: BK

A=A

KL-11F 48T-19mm

Des.: American Sealed Bottom Bracket.
Cr-Mo cold forged spindle.
Alloy cup.Cone Washer.
Tube spacers. Adaptor.Screws.
Axle: 48T-19mm
Cup OD: @51.5mm
Bearing: @41.28x19x11mm x2pcs
Finish: BK

43

KL-8800S

Des.: Three pieces crank set.
J28.6mm square shape arm. @’

Wiy

SQUARE

Flush machined chainwheel interface.
Left side drive available.

INTERFACE

Arm: Cr-Mo, 48T-19mm
Length: 170/175/180mm
Finish: ED

KL-8800R
Des.: Three pieces crank set.
@28.6mm round shape arm. @ @
Flush machined chainwheel interface. 48 SPUNE

Left side drive available. INTERPACE
Arm: Cr-Mo, 48T-19mm
Length: 170/175/180mm

Finish: ED

."

KENu

KL-8801S

Des.: Three pieces crank set.
@31.8mm square shape arm.
Flush machined chainwheel interface.
Left side drive available.

Arm: Cr-Mo, 48T-19mm

Length: 170/175/180mm

Finish: ED

@

INTERFACE

KL-8800S-E

Des.: Three pieces crank set.
@31.8mm square shape arm.
Flush machined chainwheel interface.
Micro-drive available.

Arm: Cr-Mo, 48T-19mm

Length: 170/175/180mm

Finish: ED

5:;::‘12

INTERFACE

KL-8600

Des.: Three pieces crank set.
Forged arms,with one-pinch bolt.
Flush machined chainwheel interface. e
Left side drive available.

Arm: Cr-Mo,8T

Length: 170/175mm

Finish: ED

KL-10C-1

8T-19mm

Des.: Chainring Outside
Cr-Mo cold forged spindle
Flush machined chainwheel interface
Axle: 8T, M8 x1
Cup OD: @51.5mm. Loose B.B Set
Ball retainer: 5/16"x12 x 2pc
Finish: BK

KL-8606

Des.: Three pieces crank set.
Forged arms,with one-pinch bolt.
Flush machined chainwheel interface. e
Left side drive available.

Arm: Cr-Mo, 6T

Length: 170/175mm

Finish: ED

KL-06B 6T-18.5mm

Des.: Chainring Outside
Cr-Mo cold forged spindle
Flush machined chainwheel interface
Axle: 6T, M8 x1
Cup OD: @51.5mm. Loose B.B Set
Ball retainer: 5/16"x9 x 2pc
Finish: BK




KENu

BMX-CRANK SET SPROCKET

KL-8810S-E KL-C301 KL-C302 KL-C303
Des.: Three pieces Cr-Mo crank set. Des: Alloy Spline Drive Sprocket Des: Alloy Spline Drive Sprocket Des: Alloy Spline Drive Sprocket
@34.8mm square shape arm. Spline-drive Interface 48T-19mm Spline-drive Interface 48T-19mm Spline-drive Interface 48T-24mm
Flush machined chainwheel interface. WERTACE Material: Alloy Material: Alloy Material: Alloy
Micro-drive available. Size: 1/2"x1/8" Size: 1/2"x1/8" Size: 1/2"x1/8"
Teeth: 25T Teeth: 25T Teeth: 25T

Axle: Hollow axle 48T-24

Bearing: @41.28x24x11mm x2pcs
Length: 175mm
Finish: ED
Mid-Sealed Bottom Bracket
KL-C304 KL-C202 KL-C203
Des: Alloy Spline Drive Sprocket Material: Alloy Material: Alloy
Spline-drive Interface 48T-19mm Size: 1/2"x1/8" Size: 1/2"x1/8"
WIDTH TUBE SPACER )
BBSHELLTYPE ) LEFT SIDE BEARING WIDTH (mm) BEARING RIGHT SIDE ( CHAIN WHEEL: 5mm ) Material: Alloy Teeth: 95T Teeth: 95T
Size: 1/2"x1/8"
D ﬂ @ — @ @ D oL w Teeth: 25T
MID 68 2mm 6.5mm 2.5mm 2mm 5.5mm
4 1 @41.28 x 11 44 @41.28 x 11 1 1 1 415 131
73 1 1 @41.28 x 11 49 @41.28 x 11 1 1 1 42 131.5
68 4 1 @37 x9 48 @37 x9 1 1 1 415 139.6
SPANISH
73 1 1 @37 x9 53 @37 x9 1 1 1 42 140.1
68 5 @31x7 48 @31x7 1 1 43.8 144.1
EURO
73 2 @31 x7 53 @31 x7 1 1 43.3 143.6
AMERICAN 68 2 1 @515 50 @515 1 1 425 141.5

KL-C206 KL-C215 KL-C115
Material: Alloy Material: Alloy Material: Steel
_ o o O o Size: 1/2"x1/8" Size: 1/2"x1/8" Size: 1/2"x1/8"

Teeth: 25T Teeth: 25T Teeth: 25T

&

BMX STEM

(B30  Fully CNC machined [J:{®%{s7200) Fully CNC machined W {B%{sY:oX Fully CNC machined [ 4B&:1{oX Fully CNC machined

'@

Material: 6061 T6 Material: 6061 T6 Material: 6061 T6 Material: 6061 T6

Extension: 50mm-55mm Extension: 50mm-55mm Extension: 60mm Extension: 45mm

Bar hore: 22.2mm (width-48mm)  Bar hore: 22.2mm (width-48mm)  Bar hore: 31.8mm Bar hore: 31.8mm

25.4mm (width-50mm) 25.4mm (width-50mm)  Steerer: 28.6mm Steerer: 28.6mm KL-C116 KL-C118

Steerer: 28.6mm Steerer: 28.6mm Height: 40mm Height: 30mm

Height: 32mm Height: 32mm Material: Steel Material: Steel Material: Steel
Size: 1/2"x1/8" Size: 1/2"x1/8" Size: 1/2"x1/8"
Teeth: 25T Teeth: 25T Teeth: 26T

g8




BICYCLE REPAIR TOOL

KENu

KL-P340

Body: Casting body

aluminum, black or silver.

Axle: CNC-machined Cr-Mo.
Bearing: LSL & sealed ball bearings.
Size: 110x77x25mm

Weight: 1909

KL-P501

Body: Cold-forged one-piece
aluminum, bead blasted, black or silver.
Axle: CNC-machined Cr-Mo.

Bearing: LSL & sealed ball bearings.
Size: 108x95x16mm

Weight: 1829

KL-P191

Body: Casting body

aluminum, black or silver.

Axle: CNC-machined Cr-Mo.
Bearing: LSL & sealed ball bearings.
Size: 95x70x23mm

Weight: 1309

KL-P602

Body: Cold-forged one-piece
aluminum, bead blasted, black or silver.
Axle: CNC-machined Cr-Mo.

Bearing: LSL & sealed ball bearings.
Size: 100x80x18mm

Weight: 179g

g~

KL-P203

Body: Cold-forged one-piece
aluminum, bead blasted, black or silver.
Axle: CNC-machined Cr-Mo.

Bearing: LSL & sealed ball bearings.
Size: 93x80x18mm

Weight: 130g

KL-P183

Body: Cold-forged one-piece
aluminum, black or silver.

Axle: CNC-machined Cr-Mo.
Bearing: LSL & sealed ball bearings.
Size: 70x56x22mm

Weight: 113g

KL-P801

Body: Cold-forged one-piece

Axle: CNC-machined Cr-Mo.
Bearing: LSL & sealed ball bearings.
Size: 102x93x18mm

Weight: 141g

KL-P601

Body: Cold-forged one-piece
aluminum, bead blasted, black or silver.
Axle: CNC-machined Cr-Mo.

Bearing: LSL & sealed ball bearings.
Size: 100x80x18mm

Weight: 179g

KL-P603

Body: Cold-forged one-piece
aluminum, bead blasted, black or silver.
Axle: CNC-machined Cr-Mo.

Bearing: LSL & sealed ball bearings.
Size: 100x80x18mm

Weight: 179g

KL-9818

Bicycle Tool Kit 21pcs

Multi freewheel wrenb (with hook p anner) 1ps
Bottom Brak t Cup Tool 1ps
Pedal wrenb  15mm 1ps
Cold path repair kt le t
Tirelee re t 3ps
L p anner T25 1ps
Hex Key Wrenb  (8p le t
Hub o ne p anner 13/14/15/16mm 2ps
Handle 2ps
Freewheel remoe r 1ps
Cartridge B.B Tool 1ps
Sc ewdrie r +/- le t
Chain rie t ek rat or 1ps
Cotterles c ank tool 1ps
Chain gauge & hook 1ps
Chainring nut wrenb 1ps
Forged "O" p ok adjus er 1ps

«,

/
&
™

KL-9809B

Bicycle Tool Kit

Tire Lee r Set

15 In 1 Folding Tool Set
Cold Path Repair Set
Polg & er bag

2ps
1s t
ls t
1ps

KL-9812B

Bicycle Tool Kit

Tire Lee r Set 3ps
15 In 1 Folding Tool Set ls t
Cold Patb Repair Set ls t
Pump 1ps
Polg & er bag 1ps

A

\i7”~

=
\

KL-9814

Bicycle Tool Kit

Tire Lee r Set

15 In 1 Folding Tool Set
Cold Path Repair Set
Dumbbell Wrenb

Pump

Polg & er bag

2ps
1s t
1ls t
1ps
1ps
1ps



BICYCLE REPAIR TOOL .
KENUI

Chain Rivet Extractor \
- Wider handle des gn
Chain rie t pin int uded & & orage in handle "L

- Desgnfor 1-12 p eed b ain V-
- Casting steel body w/heat treatment, chrome plate finished

-Cr-Mo s eel puh B ew / i
- SUJ 2 tool & eel pul pin !

KL-9804C

15 In 1 Folding Bicycle Tool Set

6-Hex 2/3/4/5/6/8mm
3-Sc ewdrie r: +/-/T25
1-Chain Rie t Ex rat or
2-Tire Lee r

2-Spok Wrenh :14/15G
1-Hook

- 6061-T6 aluminum alloy CNC'd handle w/anodie d
- Sie : L140mmxW50mmxH20mm /(
-

KL-9837 - Wight: 1569

8 In Folding Bicycle Tool Set

6-Hex 2/2.5/3/4/5/6mm
2-Sc ewdrie r: -/+

KL-9816

KL-9835F Freewheel & Crank set Drive Puller Set

Set of 10ps
20 In 1 Floding Bicycle Tool Set M14 x P15 1ps
7-Hex 2/2.5/3/4/5/6/8mm M16 > PL5 1ps
3-Sc ewdrie r:+/-/T25 Mig ) Izig 1ps
. x P1. ps
1-Chain Rie t EK rat or M28 x P1.5 1ps
5-Spok Wrenb :12/14/15G/MAVIC 1/2 M28 x P1.5 & 22 x P1.0 1ps
2-Open Wrenb :8/10mm M26 x P1.5 & 22 x P1.5 1ps
2-Ty e Lee r M26 x P1.0 & 28 x P1.0 1ps
M27 x P1.0 & 24 x P1.0 1ps
M27 x P1.25 & 20 x P1.0 1ps

KL-9820C

19 In 1 Folding Bicycle Tool Set

7-Hex 2/ 2.5/ 3/4/5/6/8mm
1-Sc ewdrie r: +

3-Ring Wrenb : 8/10/15mm
3-Spok Wrenhb : 12/14/15G

3-Tire Lever KL-9817
1-Hook
1-Chain Rie t Ek rac or Bicycle Press Type B.B Tool Kit
Set of 14ps
KL-9806 For Fitting & Dia 8 mbly

- Us For Bearing Sie :6805/6806

Bicycle Kettle Shape Tool Kit 11pcs *Ue For BBBG/BB30/PFI0

7 In 1 Folding Tool Set le t
Cold Path Repair Set le t
Tire Lee r 2ps
Pump 1ps
Handle With 6mm Sok t 1ps
8/9/10mm Sok t 3ps
Forged "O" Spok Adjus er 1ps
Bottle Cage 1ps




BICYCLE REPAIR TOOL

KENu

KL-9720C

Tire Lever Set

Material:Ni on
Set of 3ps

KL-9720W

Tire Lever Set

Material:Ny on
Set of 3ps

N

KL-9726F

Spoke Adjuster
3.4/3.6/3.9/4.3/4.7/5.6/5.9mm

KL-8001

Grease gun

KL-7000

Chain Scrubber

KL-7003

Chain Scrubber

KL-9730L

T IO TmmoOO W >

Freewheel and B.B. Hook Tool
B.B. Wrenb

Heads t Wrenb 36/40mm
Pedal Wrenh  15mm

Heads t Wrenb 32mm
Cotterles Crank Ex rat or
Cartridge B.B. Wrenb

Cas tte Freewheel Tool
Handle x 2ps

KL-7005

Freewheel and chain
Cleaning Brush

W

KL-9730F KL-9730E

B.B. Cup Wrench B.B. Cup Wrench

Material:Steel Material:Steel

N

KL-9750

Cable Cutter

KL-7006 KL-7001

Chain Cleaning Brush Chain Cleaning Brush

KL-7002

Freewheel Cleaning Brush

01 02

KL-9781

Cup Wrench

KL-9727A

Inner Wire Plier

KL-9734AL KL-9734BL KL-9736B KL-9736L

"Y" Socket Wrench "Y" Socket Wrench "Y" Hex Wrench "Y" Hex Wrench
Sig :8/9/10mm Sie :11/13/14mm Sig :4/5/6mm Sie :4/5/6mm

rorrr




BICYCLE REPAIR TOOL

KENu

KL-9810

Bicycle Tool Kit 37pcs

Freewheel Remoe r
Cartridge B.B.Tool
Forged "O" Spok Adjus er
Hub Cone Spanner
Cotterles Crank Tool
Freewheel Wrenh

Lok Ring Tool

Heads t Wrenhb

8mm Hex Wrench

1/2" Adaptor

L handle

Pedal Wrenh

6" Adjustable Wrenh
Tire Pres re Meas rement Pen
8/9/10mm Sok t

Bits

Tire Lee r

Hex Key Wrenh

Chain Rie t Ex rat or
Sc ewdire r

Bottom Brak t Cup tool
Cold Path Repair Set

1ps
1ps
1ps
2ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
3ps
4ps
3ps
8ps
1ps
1ps
1ps
lse t

KL-9810A

Bicycle Tool Set 17pcs

Freewheel And B.B. Cup Wrenh
Cartridge B.B. Tool

Forged "O" Spok Adjus er
Hub Cone Spanner

Cotterles Crank Tool
Freewheel Remoe r

Open Wrenh  8/10mm

Hex Wrenb 8mm

Tire Lee r

St ewdire r

Cold Path Repair Kit

Chain Rie t Ex rat or

7 In 1 Folding Big e Tool Set
1/2" Adaptor

Spline Crank Tool

1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
3ps
1ps
ls t
1ps
ls t
1ps
1ps

KL-9810B

Bicycle Tool Kit 20pcs

Bottom Brak t Tool

Multi Pedal Wrenb 14/15mm
Hub Cone Wrenh : 13/14/15/16mm
Adjus able Lok Ring Spanner
Adjus able B.B.Cup Tool

Brub For Chain

Spanner

Hex Wrenb 8mm

1/2" Adaptor

Heads t Wrenh : 30/32/36/40mm
Freewheel Remoe r

Spok Wrenh : 10-15G

Spline Crank Tool

Cotterles Crank Tool

Chainring Nut Wrenh  9/10mm
Chain Rie t Ex rat or

N on Tire Lee r Set

1ps
1ps
2ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
3ps

KL-9810C

Bicycle Tool Kit 19pcs

Bottom Brak t Tool
Freewheel Remoe r

6" Adjus able Wrenh
Cotterles Crank Remoe r
Hub Cone Spanner

Open Wrenb  8-10mm

7 In 1 Folding Tool

Spline Crank Tool

Chain Rie t Ex rat or
Hex Wrenb  8mm

Multi Freewheel Wrenh
Pedal Wrenb  14/15mm
Tire Lee r Set

Cold Path Repair Set
Forged "O" Spok Adjus er
1/2" Adaptor

1ps
1ps
1ps
1ps
2ps
1ps
1ps
1ps
1ps
1ps
1ps
1ps
3ps
ls t
1ps
1ps



BICYCLE REPAIR TOOL

KL-9804 KL-9834A KL-9835 KL-9835B

KL-9801 KL-9802

13 In 1 Folding Bicycle Tool Set

6-Hex 2/2.5/3/4/5/6mm
2-Sc ewdrie r: +/-
3-Sok t: 8/9/10mm
1-Tire Lever

1-Spok Wrenh :14G

15 In 1 Folding Bicycle Tool Set

6-Hex 2/2.5/3/4/5/6mm
2-Sc ewdrie r: +/-

3-Sok t: 8/9/10mm
3-Open Wrenh : 8/10/15mm
1-Spok Wrenhb : 14G

7 In 1 Folding Bicycle Tool Set

5-Hex 2/3/4/5/6mm
2-Sc ewdrie r: +/-

KL-9804A

7 In 1 Folding Bicycle Tool Set

5-Hex 2/4/5/6/8mm
2-Sc ewdrie r:+/-

KL-9820B

17 In 1 Folding Bicycle Tool Set

7-Hex 2/2.5/3/4/5/6/8mm
2-Sc ewdrie r: +/-

3-Ring p anner: 8/9/10mm
1-Chain Rie t Ex rat or
2-Spok Wrenb : 14/15G
1-Knife

1-Bottle Opener

KL-9820C

17 In Folding Bicycle Tool Set

6-Hex 2/2.5/3/4/5/6mm

2-Sc ewdrie r:+/-

1-Sok t:8mm

5-Ring p anner:9/10/12/13/15mm
3-Spok Wrenh :12/14/15G

10 In 1 Folding Bicycle Tool Set

6-Hex 2/2.5/3/4/5/6mm
3-Sc ewdrie r:+/-/T25
1-Bottle Opener

11 In 1 Folding Bicycle Tool Set

7-Hex 2/2.5/3/4/5/6/8mm
3-Sc ewdrie r:+/-/T25
1-Chain Rie t Ek rat or

11 In 1 Folding Bicycle Tool Set

7-Hex 2/2.5/3/4/5/6/8mm
3-Sc ewdrie r:+/-/T25
1-Chain Rie t Ek rat or

KL-9835C

11 In 1 Folding Bicycle Tool Set

7-Hex 2/2.5/3/4/5/6/8mm
3-Sc ewdrie r:+/-/T25
1-Chain Rie t Ek rat or

KL-9835D

14 In 1 Folding Bicycle Tool Set

7-Hex 2/2.5/3/4/5/6/8mm
3-Sc ewdrie r:+/-/T25
3-Sok t:8/9/10mm
1-Chain Rie t Ex rat or

#y

KL-9835G

11 In 1 Floding Bicycle Tool Set

7-Hex 2/3/3.5/4/5/6/8mm
3-Sc ewdrie r:+/-/T25
1-Chain Rie t Ek rat or

KL-9833

6 In 1 Folding Bicycle Tool Set

4-Hex 3/4/5/6mm
2-Sc ewdrie r: +/-

KL-9833B

9 In 1 Folding Bicycle Tool Set

7-Hex 2/2.5/3/4/5/6/8mm
2-Sc ewdrie r: +/-

KL-9833C

9 In 1 Folding Bicycle Tool Set

6-Hex 2.5/3/4/5/6/8mm
3-Sc ewdrie r:+/-/T25

KL-9835S

11 In 1 Folding Bicycle Tool Set

7-Hex 2/2.5/3/4/5/6/8mm
3-Sc ewdrie r:+/-/T25
1-Chain Rie t Ek rat or

KL-9835A

12 In 1 Folding Bicycle Tool Set

6-Hex 2/2.5/3/4/5/6mm
3-Sc ewdrie r: +/-/T25
2-Spok Wrenh : 14/15G
1-Chain Rie t Ex rat or

KL-9835E

8 In 1 Folding Bicycle Tool Set

6-Hex 2/2.5/3/4/5/6mm
2-Sc ewdrie r:+/-



BICYCLE REPAIR TOOL

KENu

KL-9808 KL-9809

Tool Kit Tool Kit 2 QY e | o - /

Hex Key Wrenb  4/5/6mm 3ps Tire Lee r 2ps : e @ ; / r N

6" Adjustable Wrenh 1pc 15 In 1 Folding Big e Tool Set le t ‘ a5 P

Y" Box Wrenh 2ps Cold Path Repair Kit 1s t \ =1} R 4

Lok Ring Tool 1pc Pol B o) 4 oy )
Sc ewdrie r +/- 1pc olg & erBag Ipc A S B~ c - .
Tire Lee r 3ps

Forged "O" Spok Adjus er 1pc

Polg & er Bag 1pc KL-9700ABC KL-9700 KL-9700A KL-9700B
Y 10 In 1 Folding Bicycle Tool Set 12-Way Spanner 15-Way Spanner Lock Ring Tool
i\ %
= h S

A:14/15mm 12G
B:10/11/13mm
C:13/14/15mm
Tire Lee r

15/16mm Spanner

= & \ \-;
TER!
";\\Q\f‘r A\ \

I . \‘

KL-9812 KL-7021

Tool Kit Cold Patch Repair Kit

Treleer 305 Cold Path 7ps

11 In 1 Folding Big e Tool Set 12 : Ty e Lee r 2ps KL-9701A KL-9701 KL-9703L

Cold Path Repair Kit Filing Sheet 1pc

Dumbbell Wrenh 1: : Vale Core 2ps Hex Key Wrench Set With Ring Hex Key Wrench Set with Ring Hex Key Wrench

Cotterles Crank Tool Set 1nc Glue 1pc Sie 6-Hex 2/3/4/5/6/7mm Sie  10-Hex 1.5/2/2.5/3/3.5/4/5/6/8/10mm Material:CR-V

Polg & er Bag p Box 1pc Sie 8-Hex 1.5/2/2.5/3/4/5/5.5/6m
L/ / 7 s

‘
R I

-
- -
KL-9704 KL-9705 KL-9705A
KL-7022 {1/ X] Hex Key Wrench Hex Key Wrench Hex Key Wrench
. . Material:CR-V Material:CR-V Material:CR-V
Cold Path 1ips Cold Path 8ps
Ty e Lee r 3ps Ty e Lee r 2ps
Filing Sheet 1pc Filing Sheet 1pc
Vale Core 2ps Vale Core 2ps
Glue 1pc Glue 1pc
Box 1pc Box 1pc

KL-9705T o KL-7004 KL-7007

Q. Torx Wrench 4pcs tool kit 7pcs tool kit
Material:CR-V 4/5/6mm Hex Wrenh 2.5/3/4/5/6mm Hex Wrenb
EEEE Sie  9-Torx T10/T15/T20/T25/ 13/15mm Or 14/15mm Wrenh Or 2/3/4/5/6mm Hex Wrenh
- T27/T30/T40/T45/T50 9/10mm Wrenh

13/15mm Or 14/15mm Wrenh




BICYCLE REPAIR TOOL

®

KENnul

KL-9706A KL-9706B

Cartridge B.B.Tool Cartridge B.B.Tool

KL-9706C

Cartridge B.B.Tool For
ISIS Axle

KL-9706D

Cartridge
B.B.Tool

KL-9707 KL-9708

Cartridge B.B.Tool(B37)

Cartridge B.B.Tool(B32)

KL-9709

Cartridge B.B.Tool(B8)

KL-9710

Cartridge

B.B.Tool(R)

KL-9710B KL-9711L

8-Nortch Cartridge 4-Noich BMX
B.B. Tool Freewheel Remover

L {

KL-9712B

B.B. Lock Ring Tool

KL-9713

8-Noich Cartridge
B.B. Tool

T
KL-9712 KL-9714

Cassette Remover Cassette Remover
®22.5mm ®23.5mm

KL-9715

Freewheel Remover
®20mm

KL-9715A

Freewheel Remover
d23mm

®

KL-9716C

-

KL-9715B KL-9716A KL-9716B
Cassette Remover Freewheel Remover Freewheel Remover Freewheel Tool
®23.5mm
’ & "\\
'\\ N ' Pe® ™
- %
R :

KL-9720 KL-9720A KL-9720E KL-9720G

Tire Lever Set Tire Lever Set Tyre Lever Set Tire Lever For

Made of Fiberglas Filled Ny on Made of Steel 2ps ty e lee rwith o Id Motorcycle
Set of 2/3ps Set of 2/3ps path repair k't Sie :195mm/235mm/350mm

Y S~

KL-9720L KL-9724N

Tire Lever Set Tire Lever Set Chain Rivet Extrator

Made of Fiberglas Filled N on Made of Steel
Set of 2/3ps Set of 2ps
14/15G Spok Adjus er

KL-9724L

Chain Rivet Extrator

KL-9720H

& L ®
e Fo
el T

Chain Rivet Extractor

For 3-7Speed 14/15G Spok Adjus er For 3-7Speed For 3-7Speed
For 3-7Speed

KL-9724C

Chain Rivet Extractor

KL-9724B

Chain Rivet Extractor

KL-9724AL

Chain Rivet Extractor



BICYCLE REPAIR TOOL

®

KENnul

\ & .;; "

’

KL-9725A KL-9725+ KL-9725B

Cotterless Crank Cotterless Crank Cotterless Crank

And Axle Bolt Tool Tool Set Tool With ISIS

KL-9724G Adaptor

Chain Rivet Extrator

KL-9725

Cotterless Crank Tool

KL-9724H

Chain Rivet Extrator

KL-9724E

Chain Rivet Extractor

KL-9724D

Chain Rivet Extractor

For 3-7Speed

Box Wrenb 8/9/10mm
For 3-7Speed

For 6/7/8/9/10/11 Speed
Derailleur Chain

For 3-8Speed

r

®°

KL-9725C

KL-9725L

Spline Crank Remover Cotterless Crank
Tool Set

9
N N

KL-9715F

KL-9725H

Cassette Freewheel
wrench

Pedal/Box Wrench

-~

KL-9912 KL-9724Z

Chain Rivet Extractor Chian Ruler
Extractor For Motorcycle For Motorcycle

KL-9910

KL-9724

Big Chain Rivet Extractor Small Chain Rivet

W,
For Motorcycle H'ﬂ ".}: (7 b

KL-9725F KL-9706F KL-9726K Magnetic KL-9726E

N

KL-9724S

Chain Master Link
Opener

-Derailleur Chain

KL-9724AR

Chain Master Link Plier
Open And Close The

KL-9724R

Chain Master Link Plier

KL-9725N

Chain Wheel Tool
with 9/10mm
Spanner

Cotterless Crank Cartridge B.B.
Extractor Wrench

Spoke adjuster 14G Spoke Adjuster

13/14/15G

o 4EN

KL-9726A KL-9726B

Forged "O" Spoke Forged "O" Spoke

adjuster adjuster
10/11/12/13/14/15G 10/12/14G
OD: 40mm OD: 40mm

T

71K
S -

KL-9726L

Forged "O" Spoke adjuster

KL-9726C

Forged "O" Spoke

adjuster Bigger Diameter
14G 9/10/11/12/13/14G
OD: 36mm OD: 51mm



BICYCLE REPAIR TOOL

KENu

o

\\ \ S~

KL-9727 KL-9728 KL-9729 KL-9729A

Inner Wire Plier Lock Ring Tool Freewheel Freewheel And Hub

Wrench Cone Wrench
. \ . \

N

KL-9729B KL-9730A KL-9730B KL-9730C
Freewheel And B.B. Hub Cone Spanner Hub Cone Spanner Pedal Wrench
Cup Wrench Sie : 13/14/15/16mm Sie : 13/15mm or Sie :15/16 and 15/17mm

14/15mm

L \ , . ' 7&/ "
7~ \ \
\ \ I3

KL-9730D KL-9730G KL-9730H KL-9731A

} \

N

I .

Headset Wrench Pedal Wrench Expansion B.B. Cup Wrench
Sie : 30/32mm and 36/40mm Sie : 9/16" /15/24mm Brake Wrench
Sie : 70/80mm

\&_’A

‘el % ! 2
\ Y )

KL-9731B KL-9731C KL-9721 KL-9722

Wrench 10-20mm B.B. Cup and Spline Dumbbell Wrench Adjustable Wrench
Sie : 10/11/12/13/14/15/16/ Crank Wrench Sie - 6-15mm Sie - 6"/8"/10"/12"
17/19/20mm

JE, ’

KL-9734A KL-9734B KL-9734L KL-9736

"v" Socket Wrench "y" Socket Wrench Cotterless Crank Tool Set "Y" Hex Wrench
Sie : 8/9/10mm Sie : 11/13/14mm Sie - Hex 6/8mm Sie - 4/5/6mm
Sok t 14mm

%
5

\ \ h

B N = )
A ® \

K

,\_
I \

KL-9732 L-9737 L-9738 KL-9739

Hex Key Wrench "Z" Hex Wrench Screwdriver +/- Shear Chain Device
Sig :82 00mm Sig : A: 5/6mm;
B: +/-

‘. 7
4 7 )
G - -
s B .
A /

KL-9740 KL-9740A KL-9740B KL-9741

Cable Cutter Spoke Cutter High-quality Open Wrench
Cable Cutter Sie : A: 13/15/17mm,
Material: CR-V +2#

B: 13/15/17mm,
Hex 6mm

\

KL-9742

(D

KL-9780 KL-9780A KL-9601

Bottom Bracket Cup Plastic Trousers Band Steel Trousers Band Adjustable Tube
Tool Cutter
Sig : 3-28mm



KENu

BICYCLE REPAIR TOOL

-

KL-BS08

Bicycle Stand

KL-BSO1

Bicycle Stand 26"

KL-BS02

Bicycle Stand 26"/29"

KL-BS03D

Bicycle Stand 29"
for Disc Brake
Type Bicycle

41

KL-BS07 KL-BS09

Adjustable Bicycle Stand

L

KL-BS10

Bicycle Stand

Lan

KL-BS06

Adjustable
Bicycle Stand

Bicycle Stand
# —Ih#

‘gl —— ,é_t_J-f:" .
"‘l_/ °

KL-BS04 KL-BS11 KL-BS12

Bicycle Stand Bicycle Stand Bicycle Stand

KL-BW02

Bicycle Work Stand

DERAILLEUR PULLY

&

@

® @

&

@

L-4011A L-4011E
Material: Alloy Material: Alloy Material: Alloy Material: Alloy Material: Alloy Material: Alloy
Bearing:17x9x5mm Bearing:17x9x56mm Bearing:17x9x5mm Bearing:17x9x5mm Bearing:17x9x5mm Bearing:17x9x5mm
Size:10T Size: 11T Size: 11T Size:10T Size: 11T Size:13T
Finish:Anodized Finish:Anodized Finish:Anodized Finish:Anodized Finish:Anodized Finish:Anodized
Material: Alloy Material: Alloy Material: Alloy Material: Alloy Material: Plastic Material: Plastic
Bearing:17x9x5mm Bearing:17x9x5mm Bearing:17x9x5mm Bearing:17x9x5mm Bearing:17x9x56mm Bearing:17x9x5mm
Size:13T Size:15T Size: 11T Size: 11T Size: 11T Size:13T
Finish:Anodized Finish:Anodized Finish:Anodized Finish:Anodized Finish:Black/Red Finish:Black/Red

®

L-4012C

@

KL-4012D

Material: Plastic Material: Plastic
Bearing:17x9x5mm Bearing:17x9x5mm
Size:13T Size:15T
Finish:Black/Red Finish:Black/Red

Ceramic Bearing

| @&

KL-4012E KL-4015A
Material: Plastic Material: Alloy

Bearing:17x9x5mm Bearing:17x9x5mm
Size:12T Size:17T
Finish:Black/Red Finish:Anodized

o

C)

Ceramic Bearing Ceramic Bearing

Material: Alloy Material: Alloy
Bearing:17x9x5mm Bearing:17x9x5mm
Size: 11T Size:11T
Finish:Anodized Finish:Anodized

KL-HO1

Des:40T, Hollow axle
Material: Cr-Mo
Length:136/140/144mm

KL-HO02

Des: 10T, ISIS Hollow Axle
Material: Cr-Mo
Length:127.5/132.5mm

KL-HO3

Des: 10T, Spline Hollow Axle
Material: Cr-Mo
Length: 127.5/132.5mm

o

L 5= —_
KL-604B For Unicycle KL-604D For Unicycle KL-604 For Unicycle
HUB PARTS HUB PARTS HUB PARTS

Material: Cr-Mo & 10B21 spindle
Axle: @17x160mm

O.L.D: 88mm

Bearing: 35x17x10x2pcs
Spoke hole: 14H/28H/36H
Finish: ED/CP

Material: Cr-Mo &10B21 spindle
Axle: ISIS 10T, @17x160mm
O.L.D: 88mm

Bearing: 35x22x10x2pcs
Spoke hole: 14H/28H/36H
Finish: ED/CP

RV

Material: Cr-Mo &10B21 spindle
Axle: @17x160mm

O.L.D: 88mm

Spoke hole: 14H/28H/36H
Finish: ED/CP




Thru Axle

Material: ~ Alloy 7075
Size:: @12x135/142/1562/172mm
Finish: Anodized

Thru Axle

KL-803

Material: ~ Alloy 7075

Size: @15x135/142/152mm

Finish: Anodized

Thru Axle

KL-804

Material:  Alloy 7075

Size: @12x135/142/150/172mm

Finish: Anodized

Thru Axle

KL-805

Material: ~ Alloy 7075
Size: @15x135/142/150mm
Finish: Anodized

KL-806 Axle QR15+9

Material: ~ Alloy 7075
Size:: M15x108-145mm
Finish: Anodized

KL-806A

FAxle:  M5x130mm
R.Axle:  M5x165mm
Finish: ~ UCP BK

e-\
\f’f

&
KL-800A

F.Axle: M5x110-115mm
R.Axle: M5x145-150mm
Finish: CP/ED

KL-800B

M8x40-60mm
Finish: CP/ED

KL-801
FAxle: Mb5x145-165mm

R.Axle: Mb5x178-183mm
Finish:  Anodized

//}

KL-900 Hollow Hub Axle

FAxle:  3/8"x108mm
R.Axle:  3/8"x136/140/145mm
Finish:  UCP BK

KL-901

FAxle:  3/8"x140/150mm
R.Axle:  3/8"x165/175/190mm
Finish:  UCP BK

o

Y@
St

e

KL-902

FAxle: 3/8" x125-145mm
R.Axle: 3/8" x150-190mm
Finish:  UCP BK

KL-4027

Material: Alloy 6061+T6
Size: 28.6/22.2mm

For Motorcycle _ =»

KL-4026

Alloy ahead top cap
Thread: M25XP1.5
Finish: Anodized
Length: 25mm

KL-4025 -

Raised fork seat
1-1/8"

KENu

KL-4025C —

Raised fork seat
1-1/8"

KL-CO1

Size: 1"

Fork Tube ID: @20-22.2mm
Body Height: 40mm

Finish: Silver/black

B
3
5 0

KL-C02

Size: 1-1/8"

Fork Tube ID: @22-25.4mm
Body Height: 52mm

Finish: Silver/black

=
o, -

£

KL-C03

Size: 1-1/8"

Des.: Alloy Top Cap
Star Washer
Steel Hollow Bolt

Finish: Silver/black

KL-C04
Size: 1-1/8"
Des.: Alloy Top Cap
Star Washer
Steel Bolt
Finish: Silver/black

Size: 1-1/8"

Des.: Alloy Top Cap
Star Washer
Steel Bolt

Finish: Silver/black

KL-C06

Size: 1-1/8"

Des.: Alloy Top Cap
Star Washer
Steel Bolt

Finish: Silver/black

KL-CO07

Size: 1-1/8"

Des.: Alloy Top Cap
Star Washer
Steel Bolt

Finish: Silver/black

Size: 1-1/2"

Des.: Alloy Top Cap
Star Washer
Steel Bolt

Finish: Silver/black

KL-R09 G KL-M07

KL-RO7 KL-R08

Material: ~ Alloy Material: ~ Alloy Material: ~ Alloy Material:  Alloy

Diameter: 25.4/28.6mm Diameter: 25.4/28.6mm Diameter: 25.4/28.6mm Diameter: 25.4/28.6mm
31.8/34.9mm 31.8/34.9mm 31.8/34.9mm 31.8/34.9mm

KL-RO1 KL-R02 KL-R04 KL-R05 KL-R06

Material:Carbon Material:Alloy Material:Alloy Material:Alloy Material:Alloy Material:Alloy

Size:1-1/8" Size:1"/1-1/8"/1.5" Size:1"/1-1/8"/1.5" Size:1"/1-1/8"/1.5" Size:1"/1-1/8"/1.5"

Height:5.10.15.20mm  Height:3.5.10.15.20mm

Height:10.15.20mm Height:10.15.20mm

Height:10.15.20mm

Size:1"/1-1/8"/1.5"
Height:3.5.10.15.20mm

B

o

St

ko

Bolt Axle Screw
M12x13.5

KL-B05
Bolt Axle Screw
M15x13.5

KL-B06
8T Crank Screw
M8x25

L-B12

EXh
QI

Crank Screw
M12x17

KL-B0O7

Bolt Axle Screw
M8x18

A

—h

Bolt Axle Screw
M8x17

| 3
©

KL-B09

Nut Axle Screw
M10x1.25

!

KL-B10 KL-B11
48T Crank Screw Cr-Mo
M12x30 Pedal Adapter

9/16" to 1/2
KL-B13 KL-B14
Alloy Alloy
Crank Screw Crank Screw
M15x17 M18x13.5

Alloy
Crank Screw

M20x13.5
p = |



Technical information

KENu

SPECIFICATION

- A o~ - C =

—0 C—] (
KENul GXE

KL-03

Kenu

KL-01
T KL-02

Bolt & nuttp e o tterles ake

A
0

Cottered ak e

Model | Brak tWidth A B C Ak e Length Model | Brak tWidth A B C Ak e Length
KL-09DE KL-07A
3m 68 28 52 28 108 B 30 68 35 52 46 133
B.B SHELL 68mm B.B SHELL 73mm AXLE B.B SHELL 68mm | B.B SHELL 70mm | B.B SHELL 73mm 3E 68 28 52 305 1105 B 31 68 40 52 46 138
AXLE
LENGTH
LENGTH A|lB|C|D AB ) CID A B C) D 33 68 305 52 305 13 B 32 68 21 52 46 139
A B C D A B C D ’ '
142mm 32 | 68 | 42 | 76 |30 | 70 | 42 | 76 | 29 | 73 | 40 |765
3L 68 32 52 32 116 B 33 68 43 52 48 143
108mm 20 68 20 54 150mm 38 | 68 | 44 | 78 | 36 | 70 | 44 | 79 | 33 | 73 | 44 |805
3A 68 32 52 335 1175 B 34 68 43 52 52 147
113mm s | 63 | 225 | s65 | 20 73 20 6.5 152mm 40 | 68 | 44 | 78 | 38 | 70 | 44 | 79 | 35 | 73 | 44 |805
155mm 43 | 68 | 44 | 78 | 41 | 70 | 44 | 79 | 38 | 73 | 44 |805 3P 68 32 52 35 119 B 35 68 i 52 50 147
118mm 25 68 25 59 | 225 | 73 | 225 59
153mm 42 | 68 | 43 | 77 | 40 | 70 | 43 | 78 | 37 | 73 | 43 |795 3N 68 32 52 36 120 B 36 68 45 52 51 148
128mm 30 68 30 64 | 275 | 73 | 275 64
153 31| 78 | 44 | 83 | 34 | 80 | 39 | 79
mm 3ss 68 32 52 375 1215 B 37 68 48 52 51 151
3PL 68 35 52 35 122 B 38 68 50 52 50 152
D . D
. 3s 68 35 52 375 1245 B 39 68 50 52 52 154
3T 68 35 52 39 126 B 50 70 40 55 48 143
12.65+0.05 12.65+0.05
AL 3u 68 35 52 405 1275 g 51 70 4 55 48 145
_ /] |
_F LF \ 3R 68 35 52 42 129 B 52 70 il 55 51 147
i — 3UM 68 375 52 405 130 B 53 70 43 55 48 146
A B c | A c
3RM 68 375 52 42 1315 B 54 70 43 55 51 149
KL-08B KL-08A
5L 70 32 54 32 18 B 55 70 45 55 45 145
AXLE B.B SHELL 68mm AXLE B.B SHELL 70mm AXLE B.B SHELL 68mm | B.B SHELL 70mm | B.B SHELL 73mm 5P 70 32 54 35 121 B 56 70 48 55 48 151
LENGTH| A B C D |[LENGTH| A B C D LENGTH | A | B|C|D|A|B|C|D|A|B|C|D
55 70 35 54 375 1265 B 57 70 50 55 50 155
1105mm | 22 | 68 | 205 | 545 | 1125mm | 22 | 70 | 205 | 555 103mm | 17 | 68 | 18 | 52
108mm | 19.5| 68 | 20.5 | 54.5
3mm | 22 | 68 | 23 | 57 | U5mm | 22 | 70 | 23 | 58 5T 70 35 54 39 128 § 58 70 51 55 51 157
110mm  [215]| 68 | 205|545 |205| 70 | 195 | 54.5
116mm 23 68 25 59 118mm 23 70 25 60 113mm 22 | 68 | 23 | 57 | 21 | 70 | 22 | 57 |195| 73 | 205 57 sU 70 35 54 405 1295 B 59 70 50 55 52 157
18mm | 25 | 68 | 25 | 59 | 120mm | 25 | 70 | 25 | 60 Ubmm | 23 | 68 | 25 |59 | 22 | 70 | 24|59 |205] 78 |225) 59 5R 70 35 54 42 131 B 60 68 40 52 45 137
118mm | 25 | 68 | 25 | 59 | 24 | 70 | 24 | 59 |225| 73 |225| 59
110mm | 245 | 68 | 265 | 605 | 121mm | 245 | 70 | 265 | 615
119mm 24 | 68 | 27 | 61 | 23 | 70 | 26 | 61 |215| 73 | 245 61 e 73 32 57 32 121 B 61 70 a7 55 47 149
120mm | 25 | 68 | 27 | 61 | 122mm | 25 | 70 | 27 | e2 1225mm | 26 | 68 | 285|625 | 25 | 70 | 275|625 |235| 73 | 26 |625 . 13 . 5 % 1o & 62 7 a8 5 a8 142
124mm | 27 | 68 | 20 | 63 | 26 | 70 | 28 | 63 |245| 73 |26.5| 63
122mm | 275 | 68 | 265 | 60.5 | 124mm | 27.5 | 70 | 265 | 6L5 o o3 o 40 o 40 153
126mm | 27.5| 68 | 30.5 |64.5|265| 70 | 29.5 |645| 25 | 73 | 28 |645 s 73 35 57 375 129.5
124mm | 27 | 68 | 20 | 63 | 126mm | 27 | 70 | 29 | 64
127mm | 27 | 68 | 32 | 65 | 27 | 70 | 30 | 65 |255| 73 |285 | 65 - 73 a5 5 2 131 8 64 7 a7 57 4 141
126mm 28 68 30 64 128mm 28 70 30 65 129mm 275| 68 | 335|675 |265| 70 | 325|675 25 73 31 | 675
130mm | 30 | 68 | 32 | 66 | 29 | 70 | 31 | 66 |27.5| 73 |29.5| 66 w & 35 57 40.5 1325 865 I8 a4 57 41 151
127mm | 27 | 68 | 32 | 66 | 120mm | 27 | 70 | 32 | 67
131.5mm | 30 | 68 |33.5|67.5| 29 | 70 | 325 |67.5|27.5| 73 | 31 |67.5 . . a5 57 42 134 B 66 80 - 63 45 143
129mm | 27.5 | 68 | 335 ) 675 | 13lmm | 27.5 ) 70 | 335 | 685 133mm | 32.5| 68 | 325|665 |315| 70 | 315 |665| 31 | 73 | 31 | 665






